UGC NET 2021 Political Science Shift 1 PH

Topic:- GP_Set5_A

1 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing, Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
v |, 1-5

faeTieRa arfershn @ 2020-21 % & faemem | e fafis el ma: do, e, fEwr, 9o
Wi wEatee @ fanfist & T w5 gt 21 e 4 fafes Gere 8 1750 sEmen afEm B
3000 feremioat 1 TR 530 2| AIfciRT § 9ET 3RS F 9RO H, 1-5 F I T

ToraTey Aratihe farentart 1 ufaog (%) | Fmiwd sEre = gtawd (%)
(3000 # @) (1750 @ @)
EREal 16% 14%
HIEE| 21% 28%
LEEED 14% 16%
I 24% 20%
oA 25% 2929%

What iz the approximate percentage (%) of boys in the school?

1) 42% 2 A%
(3)  34% F hire
forerT # SET W AR wiEed (%) 3
(1) 499, (2)y 28%
(3)  34% (4) 50%

[Question ID = 4849][Question Description = Q01_GP_22NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 18859]
2. 2 [Option ID = 18860]
3. 3 [Option ID = 18861]
4. 4 [Option ID = 18862]

2) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled

in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wize Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
T wins e or 2404 ano.s




recarbr kot arroaos ¥

| Handicraft

22%

T E. 1-5

freAifera aifer B 2020-21 % SRA faarem 4 o= fatya Grarswemat ma: dod, e, e, 5o

ain weafen § faenfei = qmee = g 21 faem § G Gemerdt 8 1750 sEneT afw Fe
3000 faremioat 1 TR 520 2| AifcrRT § 9ET 3RS F OT9R 9 OO H, 1-5 F I T

eI =R AR AT

IE eI ArariRe farentart =1 ufaeg (%) | Fmiwd sEe = gtawd (%)
(3000 # &) (1750 ¥ &)
T 16% 14%
HIEE! 21% 28%
lEEED 14% 16%
Fis] 24% 20%
A 25% 29%

How many boys are enrolled in Singing and Handicraft taken together?

(1) 485
(3) 420

(2) DbH05

(4) 585

A AR FEEed § 5w w0 H R o i 3¢

(1) 485
(3) 420

(2) 505
(4) 585

[Question ID = 4850][Question Description = Q02_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18863]
2 [Option ID = 18864]
3 [Option ID = 18865]
4 [Option ID = 18866]

A wnN =

3 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing, Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
v |, 1-5

fAeTieRa arfershn @ 2020-21 % & faene | e fafis Grameral ama: do, e, FEwr, 9o
#i wEatee @ fenfist & T w6 gt 21 faerem 4 fafes Gemem 8 1750 sEmen afEm B
3000 Taenfai o1 TR £31 2| AifcTht | U HTHs % SNU 9 WY H, 1-5 % S

faraniem =1 FarreTER A

[FElE e Arattere faentern =1 ufaog (%) | Fmiwa e = gtawd (%)
(3000 § ®) (1750 ® &)
GiEal 16% 14%
HIEE! 21% 287,
LEEED 14% 16%
Fis] 24% 20%
=rafeTeg 950 990




What is the total number of girls enrolled in Swimming and Drawing taken together?

(1)
(3)

el

505 (2) 515
525 (4) 535

Tl S T HAE w0 H e Al SeneT A # ¢

(1)
(3)

505 (2) 6515
525 (4) 535

[Question ID = 4851][Question Description = Q03_GP_22NOV_S1_SHAAN_Shift1]

1.1

[Option ID = 18867]

2.2

[Option ID = 18868]

3.3

[Option ID = 18869]

4. 4

[Option ID = 18870]

4 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
1n various activities in the school. Bazed on the data in the table, answer the questions 1-5 :

Activity-wizse Enrollment of Students
Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
qv9 H. 1-5
e aTferRn =9 2020-21 % EWF fEner | e Tt Geeer Tmh: dw, e, R, T

3N weafeen d famnfa & Fmee w gwid 21 e g fofas Geamerdt 9§ 1750 sEme afed Fa
3000 it =1 TR gan 2| AiferR § UET AR F YR WOUTA H. 1-5 6 I E

et =1 GFsaEr T

[EZiE ] ARG faEnfeet = afama (%) | iR et w5 aiaea (%)
(3000 & ®) (1750 ¥ ©)
EiEal 16% 14%
= 21% 28%
Ferl 14% 16%
I 24% 20%
FEAfE 25% 299

The number of girls enrolled in Dancing forms what percent (%) of the total number of

students in the School? (Round-off to two digits)?

(1) 9.32%
(3) 11.67%

(2) 10.67%
(4 14.67%

P e

Jea # ArmifeRd wEne i @ea e F Gt i g e

qUTieR = T 7

(1) 9.32%

(2) 10.67%

fepa ufae (%) 2 (281s %1 #




(3) 11.67%

(4) 14.67%

[Question ID = 4852][Question Description = Q04_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18871]
2 [Option ID = 18872]
3 [Option ID = 18873]
4 [Option ID = 18874]

A W N -

) The following table embodies the details about the enrollment of students in five different
actlvities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
in various activities in the school. Bazed on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 229,
o7 . 1-5
faetifrm arferhr &= 2020-21 = ZH faarem § o fafym Srrser A fd, T, S, 3

3 wafoey § faenfiE & Fma w gwid 21 famem § ffes Gemerdt 8 1750 sEist @ g
3000 farenfefa o1 TR goT 2| AicT | UAT HwS F YR WA H, 1-5 F IWD

IERIETIL] ARG faEnfEt 1 afama (%) | iR SEnet w5 aiaea (%)
(3000 & &) (1750 % ®)
EREal 16% 14%
e 21% 28%
ety 14% 16%
I 24% 20%
s v 25% 299

What 1s the ratio of the number of girls enrolled in Swimming to the number of boys enrolled

in Swimming?

(1) 59 :49

(3) 33 :43

T W ARG TS S BE H ST R

(1) 50 : 49

(3) 33 :43

(2 23:29
(4) 49:47
(2) 23:29
(4) 49:47

[Question ID = 4853][Question Description = Q05_GP_22NOV_S1_SHAAN_Shift1]

1 [Option ID = 18875]
2 [Option ID = 18876]
3 [Option ID = 18877]
4 [Option ID = 18878]

AN wnN =

Topic:- GP_Set5_B

1) Which of the following is designated as key behaviour of effectiveness of teaching as evident from researches?

(1) Using student ideas and contribution

(3) Teacher task-orientation

(2) Structuring
(4) Teacher affect



FTIEE H, THIE THET W g el HRE /I T R Y

(2) TR
(3) T = - i
(4)  foras gEmETE

[Question ID = 4854][Question Description = Q06_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18879]
2.2

[Option ID = 18880]
3.3

[Option ID = 18881]
4. 4

[Option ID = 18882]
2) ldentify the indirect teaching strategies from the following list :
(A) Gaining attention, informing the learner of the objective and presenting the stimulus material
(B) Concept building through examples and non-examples
(C) Explaining, exemplification and practice
(D) Problem based presentation with pair-share technique
(E) Encouraging students to use references from their own experiences
Choose the correct answer from the options given below :

(1) (B), (D) and (E) (2) (A), (B) and (C)
(3) (B), (€) and (D) (4) (C), (D) and (E)

TreATtFa B @ siaeas e T # e fifa
(A) SHFETRY, ST B FETA H WA I ACETEA A TEE AT
(B) Tl FR T-3EA0N % AT H SaEnen- e
(D) THI-FEHe TFATF F =Y T - AT W

(E) et = o s s @ a SR % fre s e

Hr= fou v faweTl § § wE I H 9E A

(1)  (B). (D)3 (E)
(2)  (A). (B) W (C)
(3)  (B).(C) = (D)
4 (0). (D) ¥ (E)
[Question ID = 4855][Question Description = Q07_GP_22NOV_S1_SHAAN_Shift1]

1.1

[Option ID = 18883]
2.2

[Option ID = 18884]
3.3

[Option ID = 18885]
4. 4

[Option ID = 18886]

3) Match List | with List Il :



List | List Il

Modalities of Teaching Implementation

(A) Instruction (I) One way imposition of ideas from the teacher to the students
(B) Training (Il) Associative presentation of ideas from teacher to students

(C) Conditioning (1) Disciplined drill conducted by teacher

(D) Indoctrination (IV) Active interchange of ideas between teacher and students
Choose the correct answer from the options given below :

(1) (A)-(I), (B)-(D), (C)-(1V), (D)-(ll) (2) (A)-(1), (B)-(ID), (C)-(1D), (D)-(IV)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(I), (B)-(1V), (C)-(), (D)-(1N)

-1 = @ =11 1 faem Fifse
i1 1T

(A)  FrEuE (I)  Taemiern @ {26 % == 5 v
S

(B) iz (ID T | et =1 fo=m = ge=mi weqid

(C) s (III) T=1%7F I Trmieta Senisa Sems

(D) HAEH (IV) Teenie=n i e =+ == = #1 gt
AEH-TEE

i Tou e T § W HE I =E i

1)  A-aD. (B)-(D). (C)-AV). (D)-IID)
(2) (A)-(D). (B)-(II). (C)-(III). (D)-(IV)

(3) (A)-(IV). (B)-(III). (C)-(IT). (D)-(I)
(4) (A)-(IIL). (B)-(IV). (C)-(I). (D)-(IL)

[Question ID = 4856][Question Description = Q08_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18887]
2. 2 [Option ID = 18888]
3. 3 [Option ID = 18889]
4. 4 [Option ID = 18890]

4) Given below are two statements :

Statement | : Computer based testing promotes objectivity in assessment processes.

Statement Il : Choice-based credit system in Indian Higher Education is a new entry.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

Fr9 = = fRe e

w9 () FZ- ATITNE THEAT § e U1t § Seq el i s@En Hetar 2

Foe (1) : A | 3o foiEn # famen-smaiiia swise ure U A saee 2
ST Y % AT H, J B e el | 8 wed suged 39 1 =9 i

(1) = (D) & (ID) 3 8T 2
(2w (1) SR 1) 3 T4 7
(3)  Fe (1) ¥ B, 9 e (1) T &
@) = (1) 7= 2, | F9E (1) =81 2

[Question ID = 4857][Question Description = Q09_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18891]



2. 2 [Option ID = 18892]
3. 3 [Option ID = 18893]
4. 4 [Option ID = 18894]

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Teaching support system whether traditional or modern is purportedly put in place for effecting economy and
ensuring quality in teaching-learning transactions.

Reason (R) : Learning outcomes in order to be congruent with stipulated instructional goals need scaffolds to begin with.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= =y for w2 - v 9FYR (Assertion A) % =9 d fafma 2 A THN IEF % HA0 (Reason R) &

AR (A) ToTeTn EETEAT WO, RO SYAT AT, T 3evd SR i gae Al A
foreqor- st s | e = G w2 2

= (R) foreqm wfomat =1 FHaiiE AeETETE S SEEY S % (60 T § TF SR

IR FHA F A F, A= 50 T e § g6 39T I H 9a i

(1) (A) #1 (R) ZF1 @81 7 3R (R). (A) Fit 77 =men 2

(2)  (A) =W (R) TH 541 7, <A (R). (A) Fi @8 =amea 74 2

(3) (A TF 2, A (R)Td 78 7

4) (A TFH TF 2, 9 (R) =9 2
[Question ID = 4858][Question Description = Q10_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18895]
2 [Option ID = 18896]

3 [Option ID = 18897]
4 [Option ID = 18898]

A WwWN =

6) In which method of research an independent variable is manipulated with an intent to observe concomitant changes in
dependent variable?

(1) ExPost Facto method (2) Case study method
(3) Descriptive survey method (4) Experimental method

HIGE =7 0 Weadl giadAl & A °, B SEE Tonell § w50 206 AT S 2

(1) =M o] (2) =atE IveEs o
(3) IV HAET Tl (4) TEFTEEE o]

[Question ID = 4859][Question Description = Q11_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18899]
2 [Option ID = 18900]
3 [Option ID = 18901]
4 [Option ID = 18902]

A W N -

7) ldentify the features of empirico-inductive paradigm of research

(A) Research is concerned with the process rather than simply with outcomes or products
(B) Based on logical positivist philosophy which assumes a single objective reality

(C) Researchers are concerned with what are called ‘participant perspectives’

(D) Attempts to establish universal context free generalizations

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A) and (C) only



(A)  FTEUE 1 HEE TihA H 2 T s aiomE s see |
(B) \:Il-il-_f}—fﬁ.' = UcdEdel aﬂ:{ I’[ Hﬂﬁil _sﬂ G T .i-'é'.-f'HIqu—, .—_,“{_,\-”r'q.h,‘_” = = T Gﬂ‘c]Tﬁ_rl%
(C)  SHAGEHAT WY TRTET F WG = w A

(D) Y e AT T e F A = 2

Jr= fou v fameal @ | TEE 39T ST A =EA I

(1)  Fae (A) 3 (B)
(2) = (B) 3R (C)
(3)  Fa= (C) 3% (D)
(4)  FaEe (A) #HE(C)

[Question ID = 4860][Question Description = Q12_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18903]
2. 2 [Option ID = 18904]
3. 3 [Option ID = 18905]
4. 4 [Option ID = 18906]

8) Match List | and List Il

List | List Il
Sampling Methods Procedure involved
(A) Simple Random Sampling (I) The first member is used as an informant to identify other. The process goes on like
this
(B) Stratified Random Sampling (Il) The units are chosen intact on the basis of their settings
(C) Cluster Sampling (lll) The units are chosen from defined groups/levels randomly
(D) Snowball sampling (IV) The units are chosen by giving equal and independent chance to each

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IN), (C)-(l), (D)-(1V) (2) (A)-(1V), (B)-(I1), (C)-(I1), (D)-(1)
(3) (A)-(), (B)-(1V), (C)-(), (D)-(1N) (4) (A)-(1), (B)-(1), (C)-(1V), (D)-(In)

-1 % = F=h-11 =1 foere Fifom
-1 T-I1
wfgel wonEt wferer = fafer
(A) = AEfeaE i (I) "99 @2 & w3 # e F9 w3
AR % BY O UEE A 9 R AR
wishn sHi #H § =ert w2
(B) T AgeaT qoe (II) ShTsAl 1 =& S99l =0aedl = ST9R W
TYTEA AT A 2
(C) Ferer wiasd (IID) sshrgdl 1 =9q afifig e /ol |
5fee® =0 § fFan S 2|
(D) T afaed (IV) sFra #1 =999 TodF & 59H @R ST

FE F T = )
Hr= faw o fepedi | © wE 3w =EA Hifw
1) (A)-D. (B)-II). (C)-(I1I). (D)-AV)
(2) (A)-(IV). (B)-(I1I). (C)-(ID). (D)-(I)
(3) (A)-(TIT)., (B)-(IV). (C)-(I), (DH-(IT)
4) (A)-(II). (B)-(D). (C)-(IV), (D)-(IID)

[Question ID = 4861][Question Description = Q13_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18907]
2.2

[Option ID = 18908]
3.3

[Option ID = 18909]
4. 4

[Option ID = 18910]



9) Given below are two statements :

Statement | : Action Research is used primarily to improve a given situation by a practitioner.

Statement Il : Applied research is directed at exploring applicability of principles already established.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

1 B e o B )

=4 (D) FEATEFAT SETT ATEHH HT IUENT TIHE: 5T IEdtd § Heagd 7w 2
e (ID) : SR FTHY Y- gl i TSI % 353 % A= i A0 I w2

ITE FUA F ATEF °§, A G T e O o 9ed S0 S R =99 AT

(1) F29 (D) ¥ (1) 31 =91 7
(2) A (D) 3 (1) 5H1 T 2
(3) =¥ (I) =l 7, wifa #aA (1) 7o 2

4) T (D TeE 7, A e (D 99 7

[Question ID = 4862][Question Description = Q14_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18911]
2 [Option ID = 18912]
3 [Option ID = 18913]
4 [Option ID = 18914]

A W N -

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : A research thesis has to follow a prescribed format and style of referencing.
Reasons (R) : This ensures the observance of research ethics.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

I 21 wym fae U ? . v wfiwYs (Assertion A) % =4 ¥ fafad 2 & E;HTFEFTT:"WW (Reason R) =

wAfaFeE (A) mg-TAg § wH fafed wEw va medtEwr A uREm w1 SOeE
TS 2
Fr (R) =6 UfEE H SHEGE B AR i # S g 5 s 2|

IR FUA F AEF 5, T B T fawed § 9 5ed 39g 39 F1 =599 Fia

(1)  (A) 3R (R) 2 |E & 37 (R), (A) #Fit =ét =ame 2
(2) (A R (R) A T E, T (R), (A) i m@ = w6 e
(3) (AT, #fF (R 78 78 &

4 (A TH AR, R T



[Question ID = 4863][Question Description = Q15_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18915]
2.2

[Option ID = 18916]
3.3

[Option ID = 18917]
4. 4

[Option ID = 18918]
11) Which of the following is an example of physical barrier to communication?

(1) Cultural disparity (2) Inattention
(3) Verbalism (4) Il health

frefefia & @ =+ = =i Sifes s = S5mm 27

(1) I (2)  IEEE
(3)  TEmEE (4) =Y

[Question ID = 4864][Question Description = Q16_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18919]
2. 2 [Option ID = 18920]
3. 3 [Option ID = 18921]
4. 4 [Option ID = 18922]

12) When in a classroom communication, a teacher shows ability of creativity, correlation and analysis, it belongs to which
category of skills?

(1) Thinking skills (2) Expression skills
(3) Media utilization skills (4) Human skills

w1 AR ° e g geeeEwal, WE-megm o favesm # gwar w1 oveem G oavit s

(1) == =i

(2)  wfy=ts Fe
(3)  difzn 3w Fee
(4)  =EEE

[Question ID = 4865][Question Description = Q17_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18923]
2. 2 [Option ID = 18924]
3. 3 [Option ID = 18925]
4. 4 [Option ID = 18926]

13) Why do we communicate?

(A) For social interaction.

(B) For happiness sake.

(C) For messages to be understood.

(D) For sharing of experience.

(E) For protection of traditions.

Choose the correct answer from the options given below :

(1) (A), (©), (E) only  (2) (B), (C), (D) only
(3) (A), (C), (D) only  (4) (A), (B), (E) only

¢

T ATETIEAT 1 B 7

(A) =S s R
(B) TH=T _E'ﬂ

(©) i w2



(D) 999 13 A B

(E) WERIs % ST B

e fau o famweai # © wE 3w o =EA s

(1) == (A). (C). (E)
(2) @ (B). (C). (D)
(3) Tt (A), (C). (D)
4 F=E(A), (B). (B)

[Question ID = 4866][Question Description = Q18_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18927]
2. 2 [Option ID = 18928]
3. 3 [Option ID = 18929]
4. 4 [Option ID = 18930]

14) Match List | with List Il

List | List Il

Types of communication Function served

(A) Mass communication (I) Corridor discussion

(B) Intrapersonal communication (Il) Classroom Teaching

(C) Group communication (lll) For communicates with oneself

(D) Interpersonal communication (IV) For mechanical message transmission

Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(ll1), (C)-(I1), (D)-()) (2) (A)-(1), (B)-(IN), (C)-(l), (D)-(IV)
(3) (A)-(I), (B)-(1D), (C)-(IV), (D)-(1) (4) (A)-(Il), (B)-(I), (C)-(D), (D)-(IV)

Ft-1 % Wy g1 =1 e Hitm
lﬁﬁ-I ﬂfnﬁ-II
(A) T FER (I)  wifer=mn ==
(B) wid-=afF® T=n (IT) e foreqm
(C) =HE #IW (II) T34 % T19 H9W =
(D) FAadafs F=n (IV) |eft 2= gummr 2

fi=r o o fepeat | 9 wE IO o = i

(1) (A)-(IV). (B)-(III). (C)-(IL). (D)-(I)

(2) (A)-(D). (B)-(II). (C)-(III), (D)-(IV)

(3) (A)-ID), (B)-(III), (C)-IV), (D)-(D

(4) (A)-(III). (B)-(II). (C)-T). (D)-(IV)
[Question ID = 4867][Question Description = Q19_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 18931]
2.2

[Option ID = 18932]
3.3

[Option ID = 18933]
4. 4

[Option ID = 18934]

15) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : A man pulls a loaded truck by his hair which becomes news.



Reasons (R) : Unusual things make news called oddity and generate public interest.
In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= 21 ®ud 2w e 2 ;v wfawud (Assertion A) % w4 H ffad 2 A En 9% 0T (Reason R) &

I (A) S i3 A AU ST #, YR ¢ i WAl 2 91 9% SHEE 59 6l 2
FTm (R) : ST =t AT [t & FEm waEn 59 S SR e # g it ol

IE FUA AR H, A= o T el § 6w 39 3 1 =S i

(1) (A) 3% (R) A1 =21 # 311 (R). (A) F 581 =@ 7

(@) (A) R (R) FH HE E, A (R). (A) FFE = a6 2
(3) (AW 2, =@ (R) &8 74 2

@ (A TEFE R, S (R TR

[Question ID = 4868][Question Description = Q20_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18935]
2. 2 [Option ID = 18936]
3. 3 [Option ID = 18937]
4. 4 [Option ID = 18938]

16) Smita rode her scooty Northwards, then turned left and then again rode to her left 4 km. She found herself exactly 2
km West of her starting point. How far did she ride Northward initially?

(1) 2 km (2) 4 km

(3)5km  (4) 6 km

fomar st =2t o I fem i aw gTyE w9 F 9w A ggt Wi = 9 gge 4 i ) amR
¥ FF A T f6g # 2 feate afvem § R 9 I e o 3ue foee e i et amn £

(1) 2 ’\50_"]\'1:} 21, (2) 4W’: S .
(3) 5 PR (4) 6 FFeT

[Question ID = 4869][Question Description = Q21_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18939]
2. 2 [Option ID = 18940]
3. 3 [Option ID = 18941]
4. 4 [Option ID = 18942]

17) A 108 meter long train moving at a speed of 50 km/hr crosses a 112 meters long train coming from the opposite
direction in 6 seconds. The speed of the second train is :

(1) 48 km/hr (2) 54 km/hr
(3) 66 km/hr (4) 82 km/hr

50 Toreiditer wieee i wfq & =er W 108 Hiex weft ot fawda G & e w112 die s wd
6 WS H T el | gEdl e A i w2

(1) 48 fetidfiz/faa (2) 54 feetidier /e
(3) 66 TR/ (4) 82 Toperidier /=a

[Question ID = 4870][Question Description = Q22_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18943]
2. 2 [Option ID = 18944]
3. 3 [Option ID = 18945]
4. 4 [Option ID = 18946]



18) If a 30 meter ladder is placed against a 15 metre wall such that it just reaches the top of the wall, the angle of
elevation of the wall is :

(1) 45° (2) 30°
(3) 60° (4) 50°

3R 30 " Fi Hidt 15 dex i AR ¥ 79 uHR o A B 9% <an $ i gl 5w, aq dEn =
AT B E

(1) 45° 2y 30°

(3) 60° (4 b0O°
[Question ID = 4871][Question Description = Q23_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18947]
2. 2 [Option ID = 18948]

3. 3 [Option ID = 18949]
4. 4 [Option ID = 18950]

19) The profit earned by selling a chair for Rs. 752 is 1.2 times the loss incurred when the same chair was sold for Rs. 400.
What is the cost price of the chair?

(1) Rs. 540 (2) Rs. 592
(3) Rs. 560 (4) Rs. 640

s forelt =l =1 752/ - =ou o s=A ot ey s= w1 400/ - T F i v fae @ 2N A

FN 1.2 TR, A FH F AT GoF T8 7
(1) 540/- ®UT (2) 3592/- %04

(3) 560/- #00 (4 640/- ¥OU

[Question ID = 4872][Question Description = Q24_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18951]
2. 2 [Option ID = 18952]
3. 3 [Option ID = 18953]
4. 4 [Option ID = 18954]

20) Three men, four women and six children can complete a work in seven days. A woman does double the work a man
does and a child does half the work a man does. How many women alone can complete this work in 7 days?

M7 (2) 8
(3)9 (4) 12

o gew, = afzend @i o7 w= Gl w9 w0 wE 7 9 gu e §) 9FR o afee 9 9we d 2EET

I FAl 8 3T TAF =1 G569 I g B AT FW FAdr 2, 91 et afaand 5|5 %m A 7\ w0 g aw

HFAl B 7
(1) 7 (2) 8
(3) 9 (4y 12

[Question ID = 4873][Question Description = Q25_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18955]
2. 2 [Option ID = 18956]
3. 3 [Option ID = 18957]
4. 4 [Option ID = 18958]

21) Given below are two statements :

Statement I : According to Nyava philosophy an argument proceeds only on those issues
that are completely unknown.

Statement II : According to Nyvaya philosophy an argument does not proceed on those

1ssues that are well established.



In the light of the above statements. Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I 1s correct but Statement II 1s incorrect.

(4) Statement I is incorrect but Statement II 1z correct.
FH () : =1 39 % AN, TH-0h Fad 39 @A 9 5 2 = e 59 6
Fo (1D I EEE AN, - Taae 39 [ | e w5 | g 2

SUURE YA F AT, A e e G d 8 gen sugeE 39w 95 i

(1)
(2)
(3)

4)

e (1) 371 (1) 2 |ef 7
FeA (1) # (I1) 31 TeAa 2
FoH (1) 721 &, AR F99 (1) 74 7

Fo (1) T 2, SfF e (1) =9 2

[Question ID = 4874][Question Description = Q26_GP_22NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 18959]
2. 2 [Option ID = 18960]
3. 3 [Option ID = 18961]
4. 4 [Option ID = 18962]
22) With reference to Nvava philosophy. which of the following statements is true?
(1) The linga or the middle term is not the Karana or operative cause of inference.
(2) The middle term may be a thing of the present but not of the past or the future.
(3) The middle term can function in an inference when past or future.
(4) The middle term can lead to the conclusion apart from the knowledge of vyapti or
the universal relation between it and the major term.
=1 59 % wed H, [Ehd § @ FE-" FeE w1l 27
(1)  Torm o191 =g =001 AT HHE 1 TEled O e 2
(2) =7 F9mE F 95 = TEa 7, g 97 sy 9t s w5 65
(3) =9 9d @uE qfFe BH W IEEE § TmE # 5
(4)  =AE Y 7Y AR WA F A= Y0 GGG F JH F ACE 57 HET TF TEA1 T B

[Question ID = 4875][Question Description = Q27_GP_22NOV_S1_SHAAN_Shift1]

AN wnN -

23)

1 [Option ID = 18963]
2 [Option ID = 18964]
3 [Option ID = 18965]
4 [Option ID = 18966]

Given below are two statements :

Statement I : Mimamsakas and Vedantins agree with the Nalyavikas that the
svllogism consists of five members or propositions.

Statement II : Mimamsakas and Vedantins agree with the Naiyvavikas that the
syllogism 18 necessary only for pararthanumana or demonstrate inference
and not for svarthanumana or inference for oneself.

In the light of the above statements. Choose the most appropriate answer from the options



given below :

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I 1s correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement II 1s correct.

=97 (D) HHTEe 1 F=SE AW WY 56 9" 9 WA B 6 SAEaeE ¥ Ui w@Ee sE
afd Hﬁl‘[ r:.'_( %l
Fe (1) fiaes AR J3El AATR F @Y 3@ A9 W HEAS § 4 AEaed A WEEe

ST TEARAT FHAE F AT SEvasE 2, 7 6 SEeEAE w99 E=EaE 5 o)
S HUF & A °, S 50 e el 8 8 oeg 9 I 0 99 i
(1) = (I) 31K (ID) 31 =&t 2
) e () 31 (II) 31 7Tei| 2
(3) = (D) &9 &, Wi e (1) 7o B
(4) = (1) T=d 2, @it w5 (1) T8 8
[Question ID = 4876][Question Description = Q28_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18967]
2 [Option ID = 18968]

3 [Option ID = 18969]
4 [Option ID = 18970]

AN wnN -

24) Given below are two statements :

Statement | : A formal fallacy is one that may be identified through mere inspection of the form or structure of an
argument.

Statement Il : Formal fallacies are found only in deductive arguments that have identifiable forms.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= = = faw mm B -

T (D) : AR 2o =98 7 59 aeh—araa =1 AR w9 g =i e
Bl ]

F9 (1) : ST 2o Fae TATE a-aed § U 9 £ e sifiafaae sreres
AT

I YT F INeF °, I for U et 8§ o o8 39 1 99 i

(1) =9 (1) =1 (1) 31 &9 &

(2) = (D) 3R 1D 3 E #

(3) YA (1) TeT 2, =0 FY FHT 7
4 w (I) U 7, =fF A (1) e B

[Question ID = 4877][Question Description = Q29_GP_22NOV_S1_SHAAN_Shift1]
1 [Option ID = 18971]
2 [Option ID = 18972]
3 [Option ID = 18973]
4 [Option ID = 18974]

A W N -

25) ‘‘Whoever thrusts a knife into another person should be arrested. Surgeons thrust a knife into another person when
operating. Therefore surgeons should be arrested’’.
Which fallacy is committed in the following argument?



(1) Hasty generalization (2) Fallacy of accident
(3) Red Herring (4) Appeal to unqualified authority

=1 FE o ot =t W = e, 39 fEwEn e S i) aea-afEes aeate # w6 o

=l W AT F AN FA@ | A, AeF- Tl F R s e

I TF-AT °§ FA-H EeEE BT

(1) AT =i
(2)  TEM H EEE

(3) Iz Em

(4) =M wieEEr] # adie

[Question ID = 4878][Question Description = Q30_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18975]
2. 2 [Option ID = 18976]
3. 3 [Option ID = 18977]
4. 4 [Option ID = 18978]

26) The next number P in the sequence of binary numbers 0, 10, 100, 110, P ....., is :

(1) 111 (2) 1000
(3) 1010 (4) 1001

0.10. 100, 110, P ..... =i fZ=n dw=maAi & %9 9 P &1 94 a1 s ¢

(1) 111 (2) 1000

(3) 1010 (4) 1001

[Question ID = 4879][Question Description = Q31_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18979]
2. 2 [Option ID = 18980]
3. 3 [Option ID = 18981]
4. 4 [Option ID = 18982]

27) ldentify the correct order of following computer memory types ranked from slowest to fastest in terms of access time.
(A) Cache

(B) CDROM

(C) Hard Disk

(D) RAM

(E) Register

Choose the correct answer from the options given below :

(1) (©), (B), (A), (D), (E) (2) (E), (A), (D), (C), (B)
(3) (B), (C), (D), (A), (E) (4) (D), (A), (E), (B), (C)

FET & TR HAE 0EE F ged U1 @ T dig w0 | ST w5

=

(A)  F

(B)  ifs 1m
€y == feom
(D) 39

(E) =

= f2u U e § | wE 39 o =5 FIA

(1)  (C). (B), (A). (D). (E)
(2) (E). (A), (D), (C). (B)



() (B (L) (D) (A (E)
@ (D). A). E). B). ()

[Question ID = 4880][Question Description = Q32_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18983]
2. 2 [Option ID = 18984]
3. 3 [Option ID = 18985]
4. 4 [Option ID = 18986]

28) Given below are two statements :

Statement | : CPU executes software directly from secondary memory.

Statement Il : A software is termed as Open Source Software if it can be downloaded from the Internet.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= =1 %o o o E

Fod (D) : Hify fgeoree 39§ AiweePr i geaer: FEld e 2|
o (ID) o7 WA HeF Aid BT FEeAld 2 90 520 A S1ees 491 = A |

TOF A F A 9, A= G 0 e | " " 3 =S i

(1) =@ (D) 11 (1D 5 &e 7
) Fem (D) 3 (1) a1 379 &
(3) M (D) & 2, =iF FoF 3@ 7

(4) = (1) 78 7, A w2 (1D 779 7

[Question ID = 4881][Question Description = Q33_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18987]
2. 2 [Option ID = 18988]
3. 3 [Option ID = 18989]
4. 4 [Option ID = 18990]

29) Which of the following statements about wikis are True?

(A) Wiki pages can be locked by moderators to prevent vandlism.

(B) Every change that is made to a wiki page is logged and can be viewed in a history list.
(C) A wiki is designed to allow people to collaborate easily.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (C) only (4) (A), (B) and (C)

faehl % ey o FH-HE U FA qeg B 7

(A) o gui =1 gEwE U % o Histzn s i e 2

(B) fait um B o 71 weiw witEds sifRa o s 2 ot =0 et fome o g = o R
(C) ot =1 aafiqmre =0T =1 STt & |=aT i1 A 3 3|

Hrt fam 1o fameat § & wE 3 w6 == i

(1)  Fad (A) 37 (B)

(2) == (B) #HR (C)



(3)  =ae (A) 3 (C)
(4)  (A). (B) 3 (C)

[Question ID = 4882][Question Description = Q34_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18991]
2. 2 [Option ID = 18992]
3. 3 [Option ID = 18993]
4. 4 [Option ID = 18994]

30) Match List | with List I

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (I) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (1l1) MOOCs for high-quality education anywhere and anytime.

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(i), (B)-(1V), (C)-(I1), (D)-(1) (2) (A)-(1V), (B)-(I), (C)-(1), (D)-(1)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(1), (B)-(1), (C)-(l), (D)-(1V)

-1 = =g F=-11 =1 foem it
=1 TA-11

(A) = (1) e srfafaoiar, aur-safaat, sw-o

(B) T==u (IT) it wafeats 9 awg, JafF+
ST 1 SR 3T ST

(C) Tefsmriem (III) =&t -t off s=eaiia e =+ oy
TR ()

(D) TATE (IV) s=waiia foan & fou Faes ddea 99

I 2w 0 foeedl § W 981 9% 1 999 i

(1) (A)-AID, B)-AV). (C)-ID). (D)D)
@ (A)-AV). B)-I). (C)-@). (D)1
(3)  (A)-AV). (B)-(III). (C)-ID). (D)-(D)
)  (A)-AD. (B)-(D. (C)-(IID). (D)-(IV)

[Question ID = 4883][Question Description = Q35_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18995]
2. 2 [Option ID = 18996]
3. 3 [Option ID = 18997]
4. 4 [Option ID = 18998]

31) The waste component of waste categorized as ‘Trash’ consists of
(A) Paper, Cardboard cartons

(B) Animal wastes

(C) Industrial process wastes

(D) Vegetable wastes

(E) Wood

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (A), (C) and (E) only
(3) (A), (C), (D) and (E) only (4) (A), (B), (D) and (E) only
U o T H it Sufoe w i g 2

(A) A, FIEAS T
(B) w9 FaiTE

(C) wranifi afwman st
(D) = amafire



(L) =g
Hi f2u o fapedi § ® WE 3T Rl =9 it
(1) = (A) @1 (E)

(2)  FAE (A), (C) 31 (E)

(3)  =Ae (A), (C). (D) =1 (E)

(4)  FFA (A). (B). (D) =1 (E)

[Question ID = 4884][Question Description = Q36_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18999]
2. 2 [Option ID = 19000]
3. 3 [Option ID = 19001]
4. 4 [Option ID = 19002]

32) Under Sustainable Development Goal 12- Sustainable Consumption and Preduction. one of
the targets is to reduce per capita food waste at the retail and consumer levels by :

dy % & X
3 X 4 u

Under Sustainable Development Goal 12- Sustainable Consumption and Production. one of
the targets 1s to reduce per capita food waste at the retail and consumer levels by :

(L % @ Y
(3) u 4 Y

[Question ID = 4885][Question Description = Q37_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19003]
2. 2 [Option ID = 19004]
3. 3 [Option ID = 19005]
4. 4 [Option ID = 19006]

33) Small hydro power potential in India is estimated approximately as

(1) ~ 60 MW (2) -~ 100 MW
(3) ~ 10 GW (4) ~ 20 GW

A H o Sl A GHAl et 5 o S 2 v

(1) ~60=mERE (2) ~ 100 ==
(3)  ~ 107fFrmEeE (4) ~ 20 rmET

[Question ID = 4886][Question Description = Q38_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19007]
2. 2 [Option ID = 19008]
3. 3 [Option ID = 19009]
4. 4 [Option ID = 19010]

34) The global environmental issue of Ozone depletion is due to emission of :
(A) Sulphur dioxide

(B) Chlorinated hydrocarbons

(C) Methane

(D) Carbone dixoide

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) only
(3) (B) and (D) only (4) (A), (B) and (C) only

(A) TEw TEATEES
(B) AR EEEEEA
(C) Hiem

(D) A T AR

= f2u o faweat ® ® mew 39 w1 =9 i



(1) & (A) =i (B)

(2)  FA4 (B)

(3) A (B) 3 (D)

(4) =S (A). (B) 31 (C)

[Question ID = 4887][Question Description = Q39_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19011]
2. 2 [Option ID = 19012]
3. 3 [Option ID = 19013]
4. 4 [Option ID = 19014]

35) Match List | with List Il

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (Il) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (1l1) MOOCs for high-quality education anywhere and anytime.

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(i), (B)-(1v), (C)-(I1), (D)-(1) (2) (A)-(1V), (B)-(IN), (C)-(), (D)-(1)
(3) (A)-(1V), (B)-(I), (C)-(I1), (D)-(1) (4) (A)-(I), (B)-(D), (C)-(1D), (D)-(IV)

freifra & o 7 Trfos aie i TUeTEdE & =9 ° 4uiiga e e 7

(1) TEzEmmEm (2) TeHEEEd
(3) TEHE (4) ==

[Question ID = 4888][Question Description = Q40_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19015]
2. 2 [Option ID = 19016]
3. 3 [Option ID = 19017]
4. 4 [Option ID = 19018]

36) The NEP-2020 proposes to prepare which of the curriculum frameworks?
(A) National Curriculum Framework for School Education

(B) National Curriculum Framework for Adult Education

(C) National Curriculum Framework for Teacher Education

(D) National Curriculum Framework for Technical Education

(E) National Curriculum Framework for Vocational Education

Choose the correct answer from the options given below :

(1) (A), (C), (E) only (2) (B), (C), (D) only
(3) (A), (B), (C) only (4) (©), (D), (E) only
% forem Hifa-2020 &, F=AitHa § @ frwr wEmEn a1 AR = O 2
(A) e foen 29 adm aewmEe B
(B) iz foren =g TEA TS BT
(C) o Torem =g udfm wie=rshn ==
(D) TR foam =g UEE TSy g
et fam o faweat © @ @@ 3o w1 =E i

(1)  =Rad (A), (C). (E)

(2) == (B). (C). (D)

(3)  F A). B). (C)

(4)  @a (C). (D). (E)
[Question ID = 4889][Question Description = Q41_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19019]

2. 2 [Option ID = 19020]
3. 3 [Option ID = 19021]



4. 4 [Option ID = 19022]
37) Which of the following values is related to self-transcendance?

(1) Security value (2) Value of Universalism
(3) Value of freedom (4) Value of conformity

F]:I';l- '\3h;.l i:[ -él ﬁ?—m l:l!rvq 12[—3:-'3pi _gl q--aq_,t %?

(1)  FEm g (2) TEGEATE g
(3)  TEAEA F A (4) THAFETA F g

[Question ID = 4890][Question Description = Q42_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19023]
2. 2 [Option ID = 19024]
3. 3 [Option ID = 19025]
4. 4 [Option ID = 19026]

38) NEP-2020 proposes to establish which of the following new bodies?
(A) SSSA

(B) PARAKH

(C) IITI

(D) NITI

(E) NTA

Choose the correct answer from the options given below :

(1) (A), (C), (D) only (2) (B), (C), (E) only
(3) (A), (B), (C) only (4) (B), (C), (D) only
a5 e Hifq-2020 o =R § @ T el i e = e w7
(A) HuHTa T
(B) g
(C) =8 =8 7t o1
(D) w7 = F e

(E) wdm

i Tou o famel ® © wE 39 #1959 St

(1)  =ad (A), (C). (D)
(2) %A (B). (). (E)
(3)  F== (A). (B). (O)
(49 FA9 (B), (C). (D)

[Question ID = 4891][Question Description = Q43_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19027]
2. 2 [Option ID = 19028]
3. 3 [Option ID = 19029]
4. 4 [Option ID = 19030]

39) Which of the following is an apex advisory and non statutory body?
(1) NITI Aayog (2) NCTE
(3) AICTE (4) MCI
faeitha ® @ =7 wET= HemEwnl Wi TT-wEtts e gt
(1)  ifa s (2) wHIFE
(3) uwamEE A (4) T i amE
[Question ID = 4892][Question Description = Q44_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19031]
2. 2 [Option ID = 19032]

3. 3 [Option ID = 19033]
4. 4 [Option ID = 19034]

40) Who among the following was the first Chairman of UGC?



(1) Sh Humayun Kabir (2) Sh C.D. Deshmukh
(3) Sh M. Moolgaokar (4) Moolchand Sharma

farafaae o em A= F Tug 7egE w2 97
(1)t zag ==ie (2) # =g Tmge
(3)  fi ., geE (4) Horeg T

[Question ID = 4893][Question Description = Q45_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 19035]
2. 2 [Option ID = 19036]
3. 3 [Option ID = 19037]
4. 4 [Option ID = 19038]

Topic:- GP_Set5_C

1) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

New National Education Policy is grounded in the assumptions that :

(A) There is increasing interconnectedness among nations at the global level.

(B) Technical knowledge should replace traditional models of learning.

(C) HEIs must focus on promotion of desirable ethical values.

(D) There is need for changes in legislative framework to facilitiate free exchange of academic ideas and achievements.
Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (A) and (C) only
(3) (A), (C) and (D) only (4) (C) and (D) only
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[Question ID = 4894][Question Description = Q46_GP_22NOV_S1_SHAAN_Shift1]
1. 1

[Option ID = 19039]
2.2

[Option ID = 19040]
3.3

[Option ID = 19041]
4. 4

[Option ID = 19042]

2) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training



colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy is framed with an objective of saving national HEls from competition at the global
level.

Statement Il : National Education Policy is framed with an objective of encouraging exchange of knowledge and expertise
both at local and global level.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4895][Question Description = Q47_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19043]
2.2

[Option ID = 19044]
3.3

[Option ID = 19045]
4. 4

[Option ID = 19046]

3) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Which of the following statements most appropriately represent one of the chief concerns regarding higher education?

(1) It argues for only local production and of knowledge and its implementation.

(2) It emphasizes only upon implementation of foreign higher education models in India.

(3) It argues for mutual exchange of knowledge and learning among national and international institutions of higher
education.

(4) It argues for practical learning alone for employability putting social issues aside.
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[Question ID = 4896][Question Description = Q48_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19047]
2.2

[Option ID = 19048]
3.3

[Option ID = 19049]
4. 4

[Option ID = 19050]

4) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEIs/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be



facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Holistic education at HElIs is aimed at :

(A) Research internship with researchers and faculty at different HEls.

(B) Recyling of traditional knowledge systems.

(C) Providing opportunities for internships at local level.

(D) Keeping social sciences and natural sciences within distinct spheres of teaching and learning.
Choose the correct answer from the options given below :

(1) (B) and (D) only (2) (A) and (C) only
(3) (A) and (D) only (4) (C) and (D) only
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[Question ID = 4897][Question Description = Q49_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19051]
2.2

[Option ID = 19052]
3.3

[Option ID = 19053]
4. 4

[Option ID = 19054]

5) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy envisages learning as a process of inculcating values of tolerance, inclusion and
sustainability.

Statement Il : National Education Policy lays stress on employability of learners in businesses and industries.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.
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[Question ID = 4898][Question Description = Q50_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 19055]
2.2

[Option ID = 19056]
3.3

[Option ID = 19057]
4. 4

[Option ID = 19058]

Topic:- 2 Political Science_A

1) Which one of the following statements is true?

forgotfeiRad & A dlol -AT DT AcA 3 ?

[Question ID = 6310][Question Description = S3_qSNz_PG_PLS_Q01]

1. No rights can be given to a man against the social interest /o1 @l IS Ba @ g BIS aiftpR ol f&u o1 A & [Option ID = 24703]
2. Grant of Rights has no concern with social interest/siférpR ygrer d2or @1 AEfeIdb & 3 @IS dder aidt 8 [Option ID = 24704]

3. Rights can have anti-social character/aiferbRI @1 Tau wmsIfRIEd 2l 3w 8 [Option ID = 24705]

4. Rights are a selfish claim/asiferprR Fareff o1d 81 & [Option ID = 24706]

2) In which aspect does Modern Liberalism NOT believe?



3ngyfored 3o arg fepa uscy 3 fereart oél @ 8 ?

[Question ID = 6311][Question Description = S3_qSNz_PG_PLS_Q02]

Social liberalism/mnfSies 36 are [Option ID = 24707]
Positive freedom/3@rRIca® Fadqar [Option ID = 24708]
Cradle to grave welfare/urcror 31 @ d® et [Option ID = 24709]

Minimal state/a=elqat s [Option ID = 24710]

AW N =

3) "We are witnessing the end of history as such that is, the endpoint of mankind's ideological evolution and the

universalisation of western liberal democracy as the final form of human government”. Whose thesis is this?
"5 b YBR A sierRT & sior S Arsft ¥ & Aroll Frera sufer & e farr o1 sifoaufig siiz dirora orRTar @ sifeer $u 3 uf2pll 3o diwddg

@I ArdsiisiianvT 8 " U fpem fiar 3 ?

[Question ID = 6312][Question Description = S3_qSNz_PG_PLS_Q03]
Francis Fukuyama/wiRr=1 waaren [Option ID = 24711]

Daniel Bell/3forrct det [Option ID = 24712]

Milton Friedman/fiiccar wisdot [Option ID = 24713]

A Maclintyre/u. diféserrz [Option ID = 24714]

A W N -

4) How was early liberalism characterised by C. B. Macpherson?

YRiFH® IGR a6 @I 2l.dl.aw=Ha b yor sifdrcfda o ?

[Question ID = 6313][Question Description = S3_qSNz_PG_PLS_Q04]
Possessive liberalism/31ca 3grars [Option ID = 24715]

Welfaristic/@ecmumarct [Option ID = 24716]

Altruistic/wfaardt [Option ID = 24717]

Developmental/fa@ricsaa [Option ID = 24718]

A wWw N =

5) Which one of the following theories is NOT related to Marx?

foraotferRaa 3 A ®diot-a1 Rigia amad A e o8l 3 ?

[Question ID = 6314][Question Description = S3_qSNz_PG_PLS_Q05]

1. Theory of Alienalism/smerma @1 RBigia [Option ID = 24719]
2. Theory of Surplus Value/sifeif¥es s1car o1 RBrgia [Option ID = 24720]

3. Dictatorship of Proletariat/dsr1 asf & awemendt [Option ID = 24721]
4. Origin of the Family, Private Property and the State/ufsar, fosft Jfufer siiz 3rser @1 3ga [Option ID = 24722]

6) Who amongst the following stated that life is "a perpetual and restless desire for power after power, that ceaseth only in

death"?

forgotferfaa 3 A bzt Berar 3 15 Sfiae v 9Iftb & aIc gardl 91t UK @0t &t Aad ud J<del <81 3 FRI®T 3id Feg D mer & B 3 ?
[Question ID = 6315][Question Description = S3_qSNz_PG_PLS_Q06]

Aristotle/sr¥q [Option ID = 24723]
Machiavelli/#fdsemactt [Option ID = 24724]
Hobbes/3fsat [Option ID = 24725]
Rousseau/x31t [Option ID = 24726]

A W N -

7) Who amongst the following wrote The Art of War?

forgoifeiRaa & A oA Ridae o '8 e sifw di’ fordt 3 ?

[Question ID = 6316][Question Description = S3_qSNz_PG_PLS_Q07]
Machiavelli/afisemch [Option ID = 24727]

Mao/ami [Option ID = 24728]

Hobbes/3fsat [Option ID = 24729]
Rousseau/z31t [Option ID = 24730]

A W N -

8) "Revolutionary violence is not just cathartic but it also allows the colonial subjects to recreate themselves”. Whose

statement is this?

"pfodamrl &1 of dact Aed Bidl 3 afc IJuforaoht ysi @I =i & geifelaivr oI @R i ygral @war 3" as Rprm! weret 3 7
[Question ID = 6317][Question Description = S3_qSNz_PG_PLS_Q08]



. Hannah Arendt/am soge [Option ID = 24731]
. Frantz Fanon/wcsrdetal [Option ID = 24732]

. Machiavelli/dfesardeft [Option ID = 24733]

. Hobbes/3fst [Option ID = 24734]

A WN -

9) Which one of the following is NOT a part of the political philosophy of Pandit Deen Dayal Upadhyaya?

forsoiferRaa 3 2 dlal ufda Slercara Iurer @ ISl gofer @1 1e1 o1ét 3 ?
[Question ID = 6318][Question Description = S3_qSNz_PG_PLS_Q09]

Consideration of man as atoms/ 3] @ 3 3 g1 @I fdrarR @on [Option ID = 24735]
Cultural nationalism/3iiz®fere 2recars [Option ID = 24736]

. Integral humanism/udbla ameraars [Option ID = 24737]

. Democratic governance/eliedaifoqa omter [Option ID = 24738]

A W N -

10) "We will get nothing by appealing to or shouting hoarse in the ears of the British Bureaucracy in India". Who said this?

"o 3 fyfeor cllp2ondl @ Prell A srler B2l 3 AT SIe ISl A 53 B o1dl ficen " s et war ?
[Question ID = 6319][Question Description = S3_qSNz_PG_PLS_Q10]

Lala Lajpat Rai/eirer cisua w1 [Option ID = 24739]
Subhash Chandra Bose/3jsmu g drt [Option ID = 24740]
B. R. Ambedkar/dl.3mR. siids®2 [Option ID = 24741]
Bal Gangadhar Tilak/aret siener feretas [Option ID = 24742]

A W N -

11) Which among the following statements regarding citizenship in India is NOT correct ?

aRA &bl aeEI¥ear o e # fwofciRaa 3 A wlar a1 weret A8 o1dl 3 ?
[Question ID = 6320][Question Description = S3_qSNz_PG_PLS_Q11]
1. Citizenship provisions came into force on 26 November 1949. /simeii¥@ar idell grazmet 26 oiasaz 1949 @l asge [Option ID = 24743]

2. A person who voluntarily acquires the citizenship of a foreign country ceases to be an Indian citizen. /afg @ cifep fopft a1 Sor & areI¥dar o car 3 ar

3ADI AR DI orreri¥aar Xt a1 siedt 8 [Option ID = 24744]
3. Acitizen of India can simultaneously be the citizen of another country./sia @1 vdb GIPIR® vd Al 3i61 91 P oIPIR® # 8l Abar & [Option ID = 24745]

4. The Parliament has the power to make provisions pertaining to acquisition and termination of citizenship./3iic @ urI s 9ifep 2 o aa oIPIf¥aAr Bl sfEur
@0l 3R 3 XA Dol A Adfid yraerot doit Abcr & [Option ID = 24746]

12) Periyar E. V. Ramaswamy argued in favour of:

OfRIR 5.l PRI o fpads usgt d ass & ?
[Question ID = 6321][Question Description = S3_qSNz_PG_PLS_Q12]

Caste based social system/sufer - smenfea Amnfore wazen [Option ID = 24747]

. Human dignity/sig=r & sif3am [Option ID = 24748]

Varnaashram system/quf-sngpt saazen [Option ID = 24749]

. Enhancing the status of Hindi in India/sema 3 f&<t &I yferst 3 giig won [Option ID = 24750]

A W N -

13) Who considered bureaucracy as the 'State’'s consciousness'?

Dol ollb29NE DY "I I Adioll’ Aol & ?

[Question ID = 6322][Question Description = S3_qSNz_PG_PLS_Q13]
. Marx/#ret [Option ID = 24751]

. Lenin/afsrer [Option ID = 24752]

. Miliband/fiferds [Option ID = 24753]

. Poulantzas/dictesn [Option ID = 24754]

A W N -

14) Which one of the following is NOT a function of political parties?

forgoifeiRaa & A dler-a1 Istoliferes urfén o1 orf o1l & ?

[Question ID = 6323][Question Description = S3_qSNz_PG_PLS_Q14]

Formation of public opinion/sierrd datren [Option ID = 24755]

Formation of government and alternate government/3R®R 3k doftud PR dotell [Option ID = 24756]
. Political education to public/sierr @t Isweifia forer o [Option ID = 24757]

. To control the judiciary/cmrmuferat uz foriqur 2xen [Option ID = 24758]

AW N =

15) Which one of the following is NOT a characteristic of constitutionalism?



forgsiferRae 31 3 wlol-2Hl ifencrarc & fadruar o1&l 3 ?

[Question ID = 6324][Question Description = S3_qSNz_PG_PLS_Q15]
Value based concept/#c=r3menfya smaemrun [Option ID = 24759]

Culture based concept/3izafer-smenfya s@ervn [Option ID = 24760]

. Party based concept/urcf-smenf¥a smemun [Option ID = 24761]

. Dynamic concept/siferofier sraemsonm [Option ID = 24762]

A W N -

16) Who among the following distinguished between interest articulation function and other anomic group functions?

forgsifer3ae 3 3 fpral f2a sifdigziioa ywril siiz sre1 sryfe@niena 3gg yooril i A fdoar ?
[Question ID = 6325][Question Description = S3_qSNz_PG_PLS_Q16]

. Almond and Powell/smis siiz urder [Option ID = 24763]
Almond and Coleman/smis 3iiz @ietdier [Option ID = 24764]
. Jean Blondel/fSia1 sciiser [Option ID = 24765]

. Hugh Heclo/&¥ gact [Option ID = 24766]

A W N -

17) India is NOT a member of which multilateral export control regime?

forgoiferRaa 3 21 b1 sggoli forifa foriquT gurrclt @1 aRa 6= o181 8 ?

[Question ID = 6326][Question Description = S3_qSNz_PG_PLS_Q17]

1. Missile Technology Control Regime (MTCR)/firirset camicifstt ter fsflor (MTCR) [Option ID = 24767]
2. Nuclear Suppliers Group (NSG)/o3fdrerR iRt 3u (NSG) [Option ID = 24768]

3. Wassenaar Arrangement (WA)/a@3em= w3siic (WA) [Option ID = 24769]

4. Australia Group (AG)/sife¢ferret sju (AG) [Option ID = 24770]

18) Which one of the following is NOT the core issue related to the neo-realist theory of International Relations?

RroifeiRae 3 A Yot sicfcdr 3der S ora-arenefardt Brgia 3 AR ST Rrerr ofdf 3 ?

[Question ID = 6327][Question Description = S3_qSNz_PG_PLS_Q18]

. Actors react in an anarchical environment /ot sRIsI uf¥der 3 yfeifcgan w2 & [Option ID = 24771]

Structure is a major determinant of actor's behavior/wf @ =IcarR @1 3 forerizas Jzaen & [Option ID = 24772]

States are always engaged in the process of monopoly capitalism/ 21 ad epifeiprR Yfldrs 6t yfepen 3 fprmofier 8id & [Option ID = 24773]

Distrust and fear among actors creates problem of security dilemma/@atsi 3 sifdeart ik #1=1 ®I Sloll J2&1 gfen bl AR IcUool dar & [Option ID =

24774]

A W N -

19) Which one of the following is NOT a feature of ‘Sustainable Development'?

forgoifeiRaa & A dlorr "Add fawra’ @1 sifdrcigor ot 3 ?

[Question ID = 6328][Question Description = S3_qSNz_PG_PLS_Q19]

. Unrestrained development/aifsrifeia faert [Option ID = 24775]

Based on principle of generational equity /i@ 3@erar @ RBrgia w2 smenf¥a [Option ID = 24776]

. Development without environmental degradation/uzifazur gri @ faerr fawrr [Option ID = 24777]

Meeting present needs, without compromising needs for future/sifdrr &I sragaradraii A AerEiar v e adere! smaga@mdil @ Agse aon [Option ID =

24778]

A w N -

20) Who among the following dependency theorists added the concept of '‘Semi-Periphery'?

forgotferRaa 3 A oo fonsfear @ Rigiamr a1 “sief-ulifer' & Fascuon ot sist 3 ?
[Question ID = 6329][Question Description = S3_qSNz_PG_PLS_Q20]

. Raul Prebisch/zm=e gfder [Option ID = 24779]

. Andre Gunder Frank/siig 3js2 © @ [Option ID = 24780]

. Henrique Fernando Cardoso/2aif¥® wols! @Sk [Option ID = 24781]
. Immanuel Wallerstein/sdiguet dfereecar [Option ID = 24782]

A W N -

21) Leaders of which organization were invited during Prime Minister Narendra Modi's swearing-in-ceremony in 2014?

2014 3 gyeroicfl ol¥g AT O IMULSBUI AN D SIRkIol A FdIGel B oldrsil I IMwifefd fop=m srmm ar ?

[Question ID = 6330][Question Description = S3_qSNz_PG_PLS_Q21]
ASEAN/amf3rifer (ASEAN) [Option ID = 24783]

SAARC /25 (SAARC) [Option ID = 24784]

BIMSTEC/fawer@ (BIMSTEC) [Option ID = 24785]

SCO/war 2t alt (SCO) [Option ID = 24786]

AW N =



22) Which of the following is NOT provided to the Indian diaspora under the '‘Overseas Citizenship of India (OCl) scheme'?

"R <t garfl sieif¥adr (O1C)" Mster & sidsfa sra @ yarfl siorigg ! fwafeRaa 3 A o= ygra o1& fosan sirar 3 ?

[Question ID = 6331][Question Description = S3_qSNz_PG_PLS_Q22]
. Right for economic activities/snfefe fegemsit @1 siférpr [Option ID = 24787]
Political rights as citizens/ams1f¥®! @ Fu 3 Jeoifeie siférsre [Option ID = 24788]

. Educational rights/dleifore siférmr [Option ID = 24789]

. To acquire life time visa/Shaeraefa dizm 6t gify [Option ID = 24790]

A WN -

23) Which agreement of defence cooperation was signed by India with USA in 2020?

2020 3 9RA of JTAT D AT ST ABAPT D oA FEHIar R saigr fpu ?

[Question ID = 6332][Question Description = S3_qSNz_PG_PLS_Q23]

1. Basic Exchange and Cooperation Agreement (BECA)/aR® vazidist s wlsiftreret wsfidic (BECA) [Option ID = 24791]

2. General Security of Military Information Agreement (GSOMIA)/Sieret Bragjfsct sifw faiferest swidtorer wofidic (GSOMIA) [Option ID = 24792]

3. Logistic Exchange and Memorandum Agreement (LEMOA)/lifSiReed vaerisr B dwidsa wsfidic (LEMOA) [Option ID = 24793]

4. Communication and Information Security Memorandum Agreement (CISMOA)/wajforderel Us swidiorel RragR¥ct awiidsa wsfidic (CISMOA) [Option ID =
24794]

24) Name the boundary line between India and China
3IRd 3iiz a1 & srexr bt e a1 b1 ol Fard

[Question ID = 6333][Question Description = S3_qSNz_PG_PLS_Q24]
. Durand Line/g3s 33 [Option ID = 24795]

. Radcliffe Line/3sfrers 3xar [Option ID = 24796]

. McMahon Line/dwaset 321 [Option ID = 24797]

. Palk Strait/urs 3¢ [Option ID = 24798]

AN w N -

25) How long can the Vice-President act as President, when the office of President falls vacant?

SId 2rscufe @I uc b 3l SIidr &, dl SuRrsgufe fdbdol R dd ASCULTT DI PRIMIR AT ADdI & ?

[Question ID = 6334][Question Description = S3_qSNz_PG_PLS_Q25]
. Six months/®s #idler [Option ID = 24799]

. One year/u® ad [Option ID = 24800]

. Two years/ex ad [Option ID = 24801]

. Five years/dfa ad [Option ID = 24802]

A wWw N =

26) The superintendence, direction and control of elections to be vested in an Election Comission (Article 324 of the
Constitution of India) came into force on :

Yol 3RIPI (HRA D Jfders D 3ecds 324) CRI Yrd Joirdl @ srefigivl, f81doret siiz foriqur &I o1t @d A aip) 88 ?
[Question ID = 6335][Question Description = S3_qSNz_PG_PLS_Q26]

26 January 1950/26 swerast 1950 [Option ID = 24803]
15 August 1947/15 serza 1947 [Option ID = 24804]

26 November 1949/26 srasaz 1949 [Option ID = 24805]
25 January 1950/25 sierast 1950 [Option ID = 24806]

A W N -

27) By which Constitutional Amendment the word 'Socialist, Secular' and ‘Integrity’ were incorporated in our Constitution?

Dlol-A fAeImeT FioNerel & ARIA A "WARIAE], Uerforrugt 3R '3SRASAr’ 9regl oI AR Jfderst 3 Jarder fos=m srir ?

[Question ID = 6336][Question Description = S3_qSNz_PG_PLS_Q27]
40t Amendment/40 af ielerer [Option ID = 24807]
42th Amendment/42 af 3ieiersr [Option ID = 24808]
44t Amendment/44 f Jiehieror [Option ID = 24809]
46t Amendment/46 af ielersr [Option ID = 24810]

A WN -

28) Which one of the following functions is NOT the concern of the local government?

forgoifeiRaa & A Blel-AT vab BRI FeIr6iiRT 9mRTel A Fdfera odl & ?

[Question ID = 6337][Question Description = S3_qSNz_PG_PLS_Q28]
. Public health/clras Farzesr [Option ID = 24811]

. Sanitation/acsar [Option ID = 24812]

. Public utility services/citepiueisft Jare [Option ID = 24813]

Maintenance of public order/rdsifore razen @t seRewr [Option ID = 24814]

A wWw N =



29) Which one of the following statements does NOT characterise a social action group?

forgaifeiRaa werell 3 Bla v AP Aa e (FAN9IeT TTlGT 3[U) I AT o1t & ?

[Question ID = 6338][Question Description = S3_qSNz_PG_PLS_Q29]

. They are partisan groups/a ugmurdt 3ws & [Option ID = 24815]

They are non-institutional organisations/a st2-3izenford isiar & [Option ID = 24816]

They are non-autonomous groups dependent on the support of the government/d sia->arromil J95e 8 Sit JRPR D Awelor w2 3nfga 3 [Option ID = 24817]
They are non-professional formations/d sie-=manRe e (wrRgg) & [Option ID = 24818]

AW N =

30) Who among the following referred to the Constituent Assembly of India as ‘Microcosm in action' ?

forraiferRaa 3 A Rp2ror sRa &1 2dfdene 3 @1 'HRA & Jga g’ H AT & 3 ?
[Question ID = 6339][Question Description = S3_qSNz_PG_PLS_Q30]

1. B. R. Ambedkar/dl. 3. simedsaz [Option ID = 24819]
2. Granville Austin/3)aifdet siff¥cor [Option ID = 24820]
3. Rajni Kothari/ssioft @iorst [Option ID = 24821]

4. Rajendra Prasad/zmig yziie [Option ID = 24822]

31) Which of the following does NOT characterise electoral politics in India today?

forsaiferRaa 3 olor-211, sIRe 3 sreft & gorrdl stofifer o1 sifdrergror o1d) 8 ?

[Question ID = 6340][Question Description = S3_qSNz_PG_PLS_Q31]

Multi-party system/ss-gefter ger [Option ID = 24823]

Coalition formation /st forfor [Option ID = 24824]

Stabilization of the Congress dominance system/aisfRI @& ygjca arcft serazen a1 Rertazur [Option ID = 24825]
Increase in the scope of electoral choices of voters/sacramnil @ geird! wic @ gaR ¥ gig [Option ID = 24826]

A w N =

32) Atmanirbhar Bharat Abhiyan was launched on

aireat fomsiz siRa sifdriret forgatferi¥aa 3i 21 fpar ferfér oot grRer s srRm e ?
[Question ID = 6341][Question Description = S3_qSNz_PG_PLS_Q32]

1. 12th May 2020/12 € 2020 [Option ID = 24827]
2. 12t October 2020/12 arpsz 2020 [Option ID = 24828]

3. 12t November 2020/12 oidaz 2020 [Option ID = 24829]
4. 12th December 2020/12 fiaz 2020 [Option ID = 24830]

33) Who coined the famous acronym "POSDCORB"?
gR1g uravif org "POSDCORB' fepz1ep1 arcrRn 8311 & ?

[Question ID = 6342][Question Description = S3_qSNz_PG_PLS_Q33]
. Henry Fayol/2s53t weiter [Option ID = 24831]

. Mary P. Follett/a$ di. wicic [Option ID = 24832]

. Gulick and Urwick/ajferes stz ffas [Option ID = 24833]

. Frederick Taylor/wsfyaeae [Option ID = 24834]

A W N -

34) Who wrote Reinventing Government (1992)?

"Sgo1dfeor srasidic (1992)" fpaol forxdl 3 ?

[Question ID = 6343][Question Description = S3_qSNz_PG_PLS_Q34]
1. Robert Denhardt/?ma< Sateré [Option ID = 24835]

2. Pfiffner and Presthus/fiuer 3iiz gzert [Option ID = 24836]

3. Osborne and Gaebler/3h=dlsf 3l 3tectz [Option ID = 24837]

4. Gordon Tullock/sliSst geiies [Option ID = 24838]

35) Who is called the father of ‘Comparative Public Administration'?

'getelicH® clid YIRAel I Slold fepA el Sirdl & ?

[Question ID = 6344][Question Description = S3_qSNz_PG_PLS_Q35]
Edward Wiedner/wsas fasarz [Option ID = 24839]

Fred Riggs/w sf¥3 [Option ID = 24840]

Ferrel Heady/w3cr 35t [Option ID = 24841]

. Chester Barnard/azcz geifs [Option ID = 24842]

A W N -

36) Which of the following statements is incorrect about the "Human Relations Theory"?



‘Hirora Fder Rrgia’ (gggra fectoit RRISY) & ar 3 foafeRaa werel 3 3 Blet-211 318 o8l 3 ?
[Question ID = 6345][Question Description = S3_qSNz_PG_PLS_Q36]

1. Organization is to be viewed as a social system/3isIool @t APARIE gl @ =u 3 3T sien aifde [Option ID = 24843]

2. Workers are human beings with all humanly attributes/gifdte 2iquf sirerasia cigroil 3 3ucel awrerdiz gwft & [Option ID = 24844]

3. Informal elements do not play an important role in the overall organizational output/sciluali¥es dca ] JdTcoldId IcuIcal 3 Facayul 9fdreTt oI forals ot
@®x1 [Option ID = 24845]

4. Organization has social ethics, instead of individual ethics/3iero0r 3 wifepara =il 6t qoirI AenfSiD e ald 3 [Option ID = 24846]

37) In 1989, the World Bank conceptualised "Governance" in the context of which of the following nations?

1989 di fira Job of foraiferRaa 3 A fop=1 AUeg, D Jgsi I 'IIRIGT (3Taoix1) &Y Adcuon bI off ?
[Question ID = 6346][Question Description = S3_qSNz_PG_PLS_Q37]

United Kingdom/3femses fdsssat [Option ID = 24847]
Australia/sifs¢fern [Option ID = 24848]

Sub-Saharan Africa/3@-3sRet sgiar [Option ID = 24849]
New Zealand/s=sficts [Option ID = 24850]

AW N =

38) Who said that "Public Administration is the accomplishment of politically determined objectives"?

fop310l a1 3 fob "ciid g9IRIal Isioliferae u A forerif¥a gzl &t foroufer 3" ?

[Question ID = 6347][Question Description = S3_qSNz_PG_PLS_Q38]
Woodrow Wilson/gs3lI fde=ter [Option ID = 24851]

L. D. White/uer€t ssrse [Option ID = 24852]

Carson and Harris/@Rfar siiz 321 [Option ID = 24853]

Dimock and Dimock/f&sifa siiz s [Option ID = 24854]

A W N -

39) "Budget is a document containing a preliminary approval plan of public revenue and expenditure”. Whose definition is
this?

"&olc U gIrdel 3 PRl Ardsifore Iera iR <RI & grftie Fdiaa Aison aXdl 3" a6 uf¥smsn e & 3 ?
[Question ID = 6348][Question Description = S3_qSNz_PG_PLS_Q39]

. Leroy Beaulieu/eRfr sgferpt [Option ID = 24855]
. Robert Walpole/3fad arcmier [Option ID = 24856]
. Reno Storm/3sit *cisat [Option ID = 24857]

. Willoughby/freerdt [Option ID = 24858]

A W N -

40) Who has been the most prominent among the Chicago school economists?

formel frarerRt & srefonfaRl 3 A AdRe Yy e 3 ?

[Question ID = 6349][Question Description = S3_qSNz_PG_PLS_Q40]
1. Adam Smith/uvsa Rater [Option ID = 24859]

2. Milton Friedman/fdccar wrssdter [Option ID = 24860]

3. Carl Menger /@it dsrz [Option ID = 24861]

4. Fredrick Hayek/wsf¥@mams [Option ID = 24862]

41) Who among the following are not supporters of positive liberty?
A. T. H. Green

B. John Locke

C. Harold Laski

D. Jeremy Bentham

Choose the correct answer from the options given below:

fractferRBad & A Blol APRICHD Fddgar o1 Axefs oidl 3 ?
A. &. . ffer

B. sifel cifd

C. 3acs ardt

D. Sieft derar



il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 6350][Question Description = S3_qSNz_PG_PLS_Q41]
A and B only/dact A siiz B [Option ID = 24863]

B and D only/dact B sfiz D [Option ID = 24864]

A and C only/a5act A siiz C [Option ID = 24865]
C and D only/aact C sfiz D [Option ID = 24866]

A W N -

42) What are the central beliefs of conservatism?
A. Tradition

B. Hierarchy and Authority

C. Social Darwinism

D. Social Liberalism

Choose the correct answer from the options given below:

3IoIeRdIc @ el farart 3 :

A. wEuar

B. ug Arurfordt iz zrer

C. anfss srfdoas

D. sl crRac

ofid fou o1 fesedl 3 A AT IUITP IR BT <RIl HIRIT :

[Question ID = 6351][Question Description = S3_qSNz_PG_PLS_Q42]

A and C only/dact A siiz C [Option ID = 24867]
A and B only/@act A 3iiz B [Option ID = 24868]
B and C only/dqct B siiz C [Option ID = 24869]
A and D only/a5aet A siiz D [Option ID = 24870]

A w N =

43) Which of the following aspects have been defended by J. S. Mill?
A. The rights of women

B. Bentham's utilitarianism in toto

C. Married woman's property bill

D. Patriarchy

Choose the correct answer from the options given below:

forgotferiRae 3 31 fop1 usg @I sana Sl wl. f3reT gRI b sk & ?

A. aifgemsli & sifiror

B. derr @1 A9 SURNBIAAG

C. fafzga aifgen JAufer fadraam

D. fgerarcadar

il fou o1 fepeul 3 A AT IWRITP IR BI Rl Hifte :

[Question ID = 6352][Question Description = S3_qSNz_PG_PLS_Q43]
1. Aand C only/dact A siiz C [Option ID = 24871]

2. Band D only/daet B siiz D [Option ID = 24872]

3. Cand D only/daer C aiiz D [Option ID = 24873]

4. Aand D only/d>act A 3iiz D [Option ID = 24874]

44) Which of the following statements about Hegel are true?

A. State is the march of God on Earth

B. Hegel regarded women as inferior, with less reasoning abilities
C. Hegel rejected the concept of civil society

D. Hegel does not believe in war

Choose the correct answer from the options given below:

Botar @ Ader 3 forgarferRaa 3t A dlor - AT Derot TS T ?



A. Irsa gedl Uz $%a3 @I 3PRIR Bloll 3

B. Serar aifdetisii @) @a a2 A6l &, JolddI Aleloll I o Af3cinsii bt aifdse siarar wa dicdl 3
C. &ret of Rafde Ararsdl & saemrn o) sRdPR &2 G

D. &iorer o1 freart gg i ot &

ofi o s1u fwseal & A A8 IR BT wRI6l HIfdIT :

[Question ID = 6353][Question Description = S3_qSNz_PG_PLS_Q44]

A and C only/d@act A siiz C [Option ID = 24875]
B and C only/@qet B 3iiz C [Option ID = 24876]
C and D only/dsaet C siiz D [Option ID = 24877]
A and B only/@act A 3iiz B [Option ID = 24878]

A W N -

45) Which of the following about Raja Rammohan Roy are true?

A. He was influenced by the Upanishads

B. He was a rationalist and supporter of monotheism

C. He was an atheist

D. He was critical of the principle of trinitarianism advocated by Christianity

Choose the correct answer from the options given below:

forgotferRaa 3 3 Dol -AT IS AA Algol A D a1 I A3 181 3 :

A. & Sufrect A genfa &

B. & gfipardt & i wdvazar & Fed® &

C. aonf¥am &

D. a $ardarg g1 Aaia qrIcae $azag @ Rigia & sickas &

offa fou o1 feseul 3 A A IWRITP IR DI Rl HifSte :

[Question ID = 6354][Question Description = S3_qSNz_PG_PLS_Q45]

A, B, C and D/A, B, C siiz D [Option ID = 24879]

A, B and C only/dact A, B sfiiz C [Option ID = 24880]
A, B and D only/@aet A, B aiiz D [Option ID = 24881]
B, C and D only/adaet B, C siiz D [Option ID = 24882]

A WN -

46) Which of the following statements about Balgangadhar Tilak are true?

A. He envisioned the formation of linguistic states

B. He was both a restless nationalist and a realist

C. He prefered political freedom over social reform

D. For Tilak, political liberation and rights can be achieved through direct action and pressure

Choose the correct answer from the options given below:

forgotferRaa 31 3 Plet - AT Perel dIcT sivneR fercrd & der 3 38 3 ©

A. Iogior simaré smenfya s forfor 6 aeaon &t

B. a sif¥ ez Irscard) sz werrefard) Seil &

C. 3oglol AP AR UR IsTolferd Faddger @l adiear 3

D. fereres @ feru wswoliferes Faddqar siiz el @ yrast orars iz cara A gra s i aear 3
ofid fou o1 fesedl & A AT IURITP IR BT <RI HIRIT :

[Question ID = 6355][Question Description = S3_qSNz_PG_PLS_Q46]

A, B, Cand D/A, B, C 3iiz D [Option ID = 24883]

B, C and D only/a@5aa B, C siiz D [Option ID = 24884]
A and B only/dact A siiz B [Option ID = 24885]

C and D only/dsaet C siiz D [Option ID = 24886]

A w N =

47) Sri Aurobindo conceives nationalism as
A. Spiritual nationalism, different from the western concept of nationalism

B. A nation as an organism



C. Nationalism as a religious aspiration and moral attitude
D. Nation as a geographical entity

Choose the correct answer from the options given below:

off 3RfiCY Jrsgare @ faper U 3 Arerd 3 -

A. snenfeares rscarg, Tegarg &t UrsRT Storerum A fHreor

B. sr=ril @ U 3 I

C. enfdfes crrerm iz Sifere efSemivr & Wy 3 wccarg

D. sionfere so1E & %u 3 A

oifa fou s1e fpeul 3 A AR IWITP IR PI WRI6l HifSte :

[Question ID = 6356][Question Description = S3_qSNz_PG_PLS_Q47]

. A, B, Cand D/A, B, C3iz D [Option ID = 24887]

. A, Band C only/dsaet A, B sfiz C [Option ID = 24888]
. B and C only/dsacr B siiz C [Option ID = 24889]

. Cand D only/asaet C iz D [Option ID = 24890]

A w N =

48) Which of the following are prerequisites of the comparative method?
A. Conceptual framework as a factor in unit selection

B. Comparable conceptual issues as a focus of inquiry

C. Definition of the focus of inquiry

D. Theory building

Choose the correct answer from the options given below:

forget 31 A getelcad ugfer @ fere gd ot 3 :

A. 35®1E @ TRIGI 3 TP PRP D WU A elellcAD FIDT

B. st @ @5¢ @ %4 3 deloliRI S[ALIRVICHD A

C. ¥I51 & g bHI ufesmar

D. Rrgia foraifor

offa fou o1 feseul 3 A IR IWRITP IR BI Rl HifSTe :

[Question ID = 6357][Question Description = S3_qSNz_PG_PLS_Q48]

. A and B only/@act A 3iiz B [Option ID = 24891]

. A, Band C only/dqet A, B siiz C [Option ID = 24892]
. A, B, Cand D/A, B, Caiz D [Option ID = 24893]

. Aand D only/dact A siiz D [Option ID = 24894]

A W N -

49) Which of the following are related to Karl W. Deutsch's approach of communication in Comparative Politics?
A. Political system is like a machine working on the basis of information

B. In his theory, homeostasis, instead of equilibrium, is used for dynamism

C. Emphasis is given on structure and functionalism

D. Output functions are given more importance

Choose the correct answer from the options given below:

forgaferRaa 31 3 Blel - A BT elollHD IAsTolifer 3 Dict Socy Sfa9r D Har efdedlvr A Hdfea 3 ?
A. ISHfts RIaren Yol @ IMENR UR BRI B drcil HofleT & H3reT 3

B. ot Rrgia 3 sifcroficrar & fore s @ Fener uz Faflafer o1 yier alar 3

C. 3ivgen 3R yopriag uR we &1 siar 3

D. forofa yorit @1 siferes e &= srar 3

ofid o s1u fwsedl & A A8 IR BT wRI6l BT :

[Question ID = 6358][Question Description = S3_qSNz_PG_PLS_Q49]



. Band C only/@aer B siiz C [Option ID = 24895]
. Cand D only/aaet C siiz D [Option ID = 24896]
. A and D only/daet A iz D [Option ID = 24897]
. A and B only/dact A siiz B [Option ID = 24898]

A W N -

50) Which amongst the following are reasons for the emergence of Neo-colonialism?
A. Weakened position of European powers

B. Rise of consciousness against imperialism

C. India’s foreign policy

D. Japan's foreign policy

Choose the correct answer from the options given below:

forgsifer3ae 3 3 il AT o1 - IUFGIAAAIC D Il D DRYI 3 ?

A. R orfepsil &t wasii 58 Rafer

B. Im=ac @ g saaar A gis

C. sirza & fagor ofifer

D. Sirarer &t fager ofifer

ofi o s1u faseal & A A8 IR BT <RI BT :

[Question ID = 6359][Question Description = S3_qSNz_PG_PLS_Q50]

. Aand B only/a@aet A siiz B [Option ID = 24899]

. B and C only/aaet B sfiz C [Option ID = 24900]
. Cand D only/dsaet C iz D [Option ID = 24901]
. A and D only/@act A siiz D [Option ID = 24902]

A W N -

51) Which of the following features are given in the UN Charter for preservation of peace?
A. Peace-making procedure is given in Chapter-VI for the peaceful settlement of disputes
B. Chapter-VIl deals with the peace-keeping activities

C. Peace enforcement is given in Chapter-VIl for coercive settlement of disputes

D. Chapter-IX deals with economic cooperation among states

Choose the correct answer from the options given below:

Y Uol are 3 orifer bl e @ fere forgat 3 A it Al fadvarny ét s & ?

A. fyarci o grifergut foraer & sreamar- VI 3 orifer - asredt 6 yfpeme & o1 3
B. srearr- VI orifer srarett siferfaf2ril 21 Jdfeea

C. srearr-V| 3 farel @ segde foraer @ ferg erifer gaddor f&ar srm 3

D. sreamrr-IX sl 3 snfdfes reRiter 3 Jdfia 3

il fou s1u frpeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 6360][Question Description = S3_qSNz_PG_PLS_Q51]

. A and B only/@act A 3iiz B [Option ID = 24903]
. Aand C only/@aet A siiz C [Option ID = 24904]
. B and C only/@ae B siiz C [Option ID = 24905]
. B and D only/daer B siiz D [Option ID = 24906]

A W N -

52) Which of the following are true about the world system theory?

A. It is influenced by the Marxian idea of accumulation of wealth

B. On the basis of wealth accumulation, the world is divided between 'core’,'periphery' and ‘semi-periphery’
C. It involves important concepts like players, strategies, rules and outcomes

D. It analyses the situation of conflict, competition and cooperation among states

Choose the correct answer from the options given below:

afaw yurrch Brgia @ vder A Bor & A a=n 3& 3 ?
A. sz Arad D erol ITrR1 @ R A ganfaa 3
B. erol dcRI @ simenR R fopa 'ag, "af¥fy’ siiz ‘sref - uf¥fy' & i der @



C. s Raarsl, wehiferil, forer siik uf¥vnar Si=ft ssvaget siaemsome onfirer 3
D. w1 sl @ #iea Aad, gferruef iz wsier &t Rerfer o fpdvuaur war 3
il fou o1 fraseul 3 A A IR BT w6l HIfSIE :

[Question ID = 6361][Question Description = S3_qSNz_PG_PLS_Q52]

A and B only/dsact A siiz B [Option ID = 24907]
B and C only/dact B sfiz C [Option ID = 24908]
. Cand D only/asaet C stz D [Option ID = 24909]
A and D only/dbaet A siiz D [Option ID = 24910]

A W N -

53) Which of the following are true about Regime Theory in International Politics?

A. It is an attempt for the existence of rule-governed behavior in the anarchic international system
B. They are to replace collective security system

C. Major powers resolve conflicts through this mechanism

D. They have been defined by principles, norms, rules and decision-making procedures

Choose the correct answer from the options given below:

JiarsER ofiferil 31 ormeTornrer RBrgia (Rshier «irdY) o Jider 3 forgor 3 diot 781 3 ?
A. I8 RIS iARTSERI Yutredl 3 formr onfirar Rasr &t fepierar & fore griet 3
B. & wmafd3® JRen gurreit o yferrenfira oot & fére &

C. yga orftpeai 331 YuIrcll & HAreadt A $HI DI ALl Bkl 3

D. 3o Rigidl, smorol, formil 3iiz forfer dor Gt gitgamsit grer uf¥snfda foan srm 3
il feu sru farsedl 3 A A8 IR D1 WRIel B :

[Question ID = 6362][Question Description = S3_qSNz_PG_PLS_Q53]

. A and B only/dact A 3iiz B [Option ID = 24911]

. Band C only/daet B aiiz C [Option ID = 24912]
. Cand D only/aaet C sfiz D [Option ID = 24913]
. Aand D only/@aet A 3iiz D [Option ID = 24914]

A w N =

54) Which of the following statements about India's foreign policy are true?

A. India has signed the Land Boundary Agreement (LBA) with Bangladesh in 2015

B. India has agreed to build Hambantota port in Sri Lanka in 2017

C. India has signed a Strategic Partnership Agreement (SPA) with Afghanistan in 2011
D. The regime of Abdulla Yameen (2013-2018) of Maldives was friendly with India

Choose the correct answer from the options given below:

A &Y faSor oiifer & forrar 3 foratifepa werell 3 ®let 1 38 3 ?

A. azd of adf 2015 3 dercieer @ arer Mo Farsia (va & ©) uz srasr foou &

B. smee of aef 2017 3 oftcipt 3 EdoIcer dcons @ forarivr uz wsacdl oerep &f 3

C. e of adf 2011 3 srwenfordrel @ ATel Wishifcrm yPlcHl Aasia (v ul v) ur sragr fou &
D. arerdlu @ sregeet Aeilor (2013 - 2018) @ oIRIeIdIcl d HRA @ AT Acfl Heer &

il fou s1u fraseul 3 A I IR BT ToT HIfSIE ©

[Question ID = 6363][Question Description = S3_qSNz_PG_PLS_Q54]

. A and B only/dae A siiz B [Option ID = 24915]

. B and C only/dsacr B siiz C [Option ID = 24916]
. Aand C only/@aet A siiz C [Option ID = 24917]
. Cand D only/aae C 3fiz D [Option ID = 24918]

A W N -

55) Which of the following statements are incorrect with regard to the Finance Commission ?
A. The provision of Finance Commission has been mentioned in Article -280 of the Constitution.
B. Finance Commission shall consist of Chairman and two members.

C. Finance Commission submits its recommendations to the Parliament.

D. The Parliament is authorized to determine the qualifications for appointment as member of the commission.



Choose the correct answer from the options given below:

for 3mRNBT & Aoget I o1t A Blol A Beret A o1 T -

A. T 3RIIET b1 Yraenot Jfdemst a emr - 280 3 fealRaa

B. for 3IRIIST 31¢=181 3iiR 1 3Gl BT Foll loll AT

C. fore 3mRMieT aruil RBre1fedl g (clivars) i gagda @ar

D. 3T @ A6l 6l orgfes B Ae=rarsii ot foifdia wor @ fore g giftrapa 3
il f3u a1 fraseul 3 A W) IR BT TRl HIRdIE :

[Question ID = 6364][Question Description = S3_qSNz_PG_PLS_Q55]

A and B only/d>qet A siiz B [Option ID = 24919]
B and C only/@aet B siiz C [Option ID = 24920]
C and D only/a@acr C siiz D [Option ID = 24921]
A and D only/a5act A siiz D [Option ID = 24922]

A w N =

56) In India's Foreign Policy, 'Indira Doctrine’ is related to

A. It aims to make India a global power

B. It is a policy to develop cooperation with neighbours

C. It equates India's security with that of South Asia

D. Any interference in the South Asian region will be considered a threat to India's security

Choose the correct answer from the options given below:

il fagor ofifer 3 'sfeer Rigia’ fpersr widfera 3 ?

A. @I 389 HRA DI d¥ad 9IfRP Jollell &

B. w1z uskil Soil @ rer AT frpRia o1 &t ofifer oft

C. sdl sz 1 JRen Sf3rvr efdrn & A3l yehdfa & o 3

D. cfaror ofdrns giq 3 b2t off seasiu @ MR &f JRem i T IS ST
il fou s1u freseul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 6365][Question Description = S3_qSNz_PG_PLS_Q56]
1. Aand B only/dact A iz B [Option ID = 24923]

2. B and C only/dact B siiz C [Option ID = 24924]

3. Cand D only/aaet C siiz D [Option ID = 24925]

4. Aand D only/adact A siiz D [Option ID = 24926]

57) Which of the following are the exclusive powers of the Lok Sabha?
A. Introduction of the money bill

B. Ratification of the declaration of emergency

C. To pass a motion of no-confidence against the council of ministers

D. To impeach the President

Choose the correct answer from the options given below:

forgatferlRaa 31 3 Plat cliaren & Tbad IfIPR 3 ?

A. &6t it @1 gdedla:ur

B. smure wiret argun &I gfte wen

C. dfy) - uftug @ fag sifrart grara aif¥a woen

D. rscufer & fasg FsIfeRIBI @1 YFdara crel

ofid fou a1 fwseal # A A8 IR BT <RI BT :

[Question ID = 6366][Question Description = S3_qSNz_PG_PLS_Q57]

1. Aand B only/a@aet A siiz B [Option ID = 24927]
2. Aand C only/dsaet A siiz C [Option ID = 24928]
3. Aand D only/daer A siiz D [Option ID = 24929]
4. A, B and C only/dsaet A, B siiz C [Option ID = 24930]

58) The Supreme Court Of India in its order dated 24th August 2017 in Justice. K.S. Pultaswamy (Retd) vs Union of India



declared that:

A. The right to privacy is protected as an intrinsic part of the right to life and personal liberty under Article 21 and as a part
of the freedoms.

B. The Union government must amend the Constitution and add a provision for the right to privacy.

C. The right to privacy is protected by Article 14(equality before the law), Article 19 (Right to freedom), Article 21(
Protection of life and personal liberty).

D. Right to privacy is derived from Article 25( Right to freedom of religion) and Article 14(Protection of interests of
minorities)

Choose the correct answer from the options given below:

HRA @ Adlcd RIRICRI of 24 3PRd 2017 @1 @. v, ygrasdl (Reris) domar urdlRn e gocd A forofr ar ar &b :

A. forstan @ sif2rrR @I JAfderst @ 3eieds 21 @ Silaed 3R Iftpera Faddgar @ iR @ difead HPT & WU 3 aur ifdens o sl |l grr &
ST$ JIGIICRIT @ SIRE @ LA A S YId 8

B. @¢ IRDBR I s fderne 3 oNere B 36 forsian o1 if2rpR siisen aide

C. forsiar @ 3if2roR 315I<8s 14 (PIglol B AAST AATeIdI), 3Moicds 19 (Faddqgar oI 3if2rPR), 3ioeds 21 (Shidst 3R caftpora Fadqgar &l Jzem)
SR P81l Y &

D. forsian o1 3R 3iecds 25 (enfifes eIt o1 SMf2rpR) 3 s 29 (3rcuicae delf & f3dl o1 JHgIuT)

offa fou o1 feseul 3 A IR IWRITP IR BI Rl HifSTe :

[Question ID = 6367][Question Description = S3_qSNz_PG_PLS_Q58]

A only/aaet A [Option ID = 24931]
B only/a@aet B [Option ID = 24932]
A and D only/@act A siiz D [Option ID = 24933]
C and D only/aaet C 3fiz D [Option ID = 24934]

A W N -

59) Which of the following are the issues of debate in electoral politics?

A. Electronic voting machine

B. One nation, one election

C. Single-member election commission

D. Introduction of the two-children norm for eligibility to contest local elections

Choose the correct answer from the options given below:

forgatferRaa 3 3 Plat gorrdl stofifer 3 aciarc & oo & ?

A. scacifore Jiacior agfier

B. uw uvg, v golra

C. v ARl forafaet smileT

D. >erofia getra cr$ol @ fru Q1 a<dl @ Hleld DI YRIH DIl

ofid o s1u feedl 3 A AT IWITP IR DI RI6l HIRIT :

[Question ID = 6368][Question Description = S3_qSNz_PG_PLS_Q59]

A and B only/d>qet A siiz B [Option ID = 24935]

A, B and C only/d@aet A, B siiz C [Option ID = 24936]
A, B and D only/@aet A, B 3iiz D [Option ID = 24937]
B, C and D only/@>aer B, C siiz D [Option ID = 24938]

A W N -

60) Labour movements in India suffers from

A. Low membership

B. Weak finances

C. Multiplicity of union

D. Presence of differentiated organizational structures for different classes of labor

Choose the correct answer from the options given below:

81 3 9JfIID 3TicIcral fobat A goypIfad alar & ?

A. @ Ic=Iar



B. wasir fora

C. 31o1% 3l BT Bloll

D. faaxékr Feroeicatd Jvden &t suf¥erfer, S 9! @ faficer ot & ferg
ofid o s1u feedl & A AT IUWRITP IR BT RI6l HIRIT :

[Question ID = 6369][Question Description = S3_qSNz_PG_PLS_Q60]

A and D only/d5act A siiz D [Option ID = 24939]

B and C only/d@act B sfiz C [Option ID = 24940]

A, B and C only/d@act A, B siiz C [Option ID = 24941]
A, B, Cand D only/A, B, C siiz D [Option ID = 24942]

A W N -

61) Mc Gregor in his celebrated text, The Human Side of the Enterprise has given his famous "theoretical assumptions”.
Which of the following are the correct assumptions?

A. The average human being, with relatively little ambition, prefers to be directed and wishes to avoid responsibility.
Security is the main concern

B. The average human being learns under proper conditions not only to accept but to seek responsibility
C. The average human being has an innate antipathy to work, which he will avoid, if he can
D. "Best management is a true science"

Choose the correct answer from the options given below:

3P 3R of 3ruel yferftod el ure ' gIgiel ATSS 36 ¢ seyrsst” 3 3ol gRig Agifere ARIAart ygra &t 3 forsorferfRaa 3 A wlar &t Areaar
3

A. 313 o1 ORI rUeIpd PA Hswarpigh 3, IS gloll uRic war 3 3k STcIRid 2 &3 ol AIfdu 3 R8N ¥ fiar &<l 3

B. smrer #iora Jfa Referil 3 cifea of dac ¥ iior oar 8 afed 3AD! gt oo oit Haar 3

C. a1 FAro1a 1 DRI Dol D Yfer of Ddact Famifae feRler aar 3 Afe s 33 ORI A g2 ol d F#e A, a1 g7 9 o1 agen

D. 3captc yetiol Ueh A8l frsier 3

ofi fou o1 feedl & A AT IURITP IR BT RI6I HIRIT :

[Question ID = 6370][Question Description = S3_qSNz_PG_PLS_Q61]

1. Aand B only/@aet A siiz B [Option ID = 24943]
2. Cand D only/adac C sz D [Option ID = 24944]
3. Aand D only/dbaet A siiz D [Option ID = 24945]
4. A, B and C only/dact A, B iz C [Option ID = 24946]

62) Performance budget reflects how well a government entity is meeting its goals and objectives. Which of the following
are the central point of Performance Budgeting?

A. It requires the establishment of performance levels and the collection of information
B. The amount of work that is done is measured

C. The quality or the results of that work is measured

D. This impacts how much money a department will receive in the future

Choose the correct answer from the options given below:

forsurcol astc A6 coIRRi 3 o5 DI IRBEL BT Ul el 3R IToAT Dl fopA JpIIar A Yra o & foreifeiRaa 3 A wlat forsurce asic &
ok fig & 7

A. 33731 forourcet TRl bl FemueiT dei el sYEul &t sragAddr il 3

B. Sit ®rf fipan sirr 3, 3AD ALY DI AT Bl 3

C. 31 ©ri &I sprad srerar 3Ad ulvie o1 Aol dlar 3

D. AT 3 €T U2 Y Usal & [ Rl Remer @1 s 3 Roder S g dem

il feu s1u fareedl 3 A A8 IR D1 WRIe B :

[Question ID = 6371][Question Description = S3_qSNz_PG_PLS_Q62]

1. A, B and C only/daet A, B siiz C [Option ID = 24947]
2. Band C only/dsaet B siiz C [Option ID = 24948]

3. A, B, Cand D only/A, B, C siiz D [Option ID = 24949]
4. Cand D only/daet C siiz D [Option ID = 24950]

63) Which of the following are the advanced ideas of Mary Follett?



A. Functional Foremanship
B. Constructive Conflict

C. Zone of Acceptance

D. Integration

Choose the correct answer from the options given below:

forgotferRaa 3f 3 Plet A A Ul Bicie & oot far 3 ?

A. yoRrIica® BRI

B. F@ecas S5

C. ¥diwmfer &g

D. udbiasaur ($eoR9r6r)

il fou s1u eyl 3 A AT IWITP IR PI WRIal HifSte :

[Question ID = 6372][Question Description = S3_qSNz_PG_PLS_Q63]
1. A and B only/dact A siiz B [Option ID = 24951]

2. Band C only/daer B siiz C [Option ID = 24952]

3. Cand D only/a@aer C siiz D [Option ID = 24953]

4. B and D only/aae B siiz D [Option ID = 24954]

64) Which of the following are the schools of "New Right Ideology"?
A. Austrian school

B. Chicago school

C. Frankfurt school

D. New York school

Choose the correct answer from the options given below:

fRcifeiRaa & A dlot "ora o deft Rrgia” (o, w5 amsf:iciish) o amror archt Rrmermt e 3 ?
A. siif¥aer Fayet

B. formel F@mer

C. Bowé Imel

D. oy Faer

ofi o s1u fwedl 3 A AT ST IR DI RI6T HIRIT :

[Question ID = 6373][Question Description = S3_qSNz_PG_PLS_Q64]

. A and B only/@act A 3iiz B [Option ID = 24955]
. Aand D only/dact A siiz D [Option ID = 24956]
. Band C only/aaet B aiiz C [Option ID = 24957]
. Aand C only/daer A siiz C [Option ID = 24958]

A W N -

65) Which of the following were/are wage development and infrastructure development programmes?
A. Crash Scheme of Rural Employment

B. National Rural Employment Guarantee Programme

C. Rural Landless Employment Guarantee Programme

D. Changes in Agronomic Practices

Choose the correct answer from the options given below:

forgotferfiac 3 A ot "Foig gfyg 3z siavizaon faworRT & oriagH & / 3 ?

A. @ orf3wa i Bl sFcciizic (Aeret SREvT ASEIR ASTol)

B. sl spefivr AR S1RE BRiaw

C. spafior yfrdlor AP a1t wRfmH

D. ofifrster ughr 3 ufvader

il fou s1u fpeul 3 A AT IWITP IR PI RIel HifSte :

[Question ID = 6374][Question Description = S3_qSNz_PG_PLS_Q65]



. A and B only/@act A 3iiz B [Option ID =

A W N -

66) Match List | with List Il

24959]

. Aand D only/dact A siiz D [Option ID = 24960]
. A, Band C only/dact A, B siiz C [Option ID = 24961]
. B and C only/asae B siiz C [Option ID = 24962]

List |

List Il

A. Catherine MacKinnon

|. Feminism is for Everybody

B. Susan Moller Okin

Il. The Dialectic of Sex

C. S. Firestone

lll. Toward a Feminist Theory of State|

D. Bell Hook

IV. Justice, Gender and the Family

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSte :

oxet -1 oxet -l

A. d>erdlor Iibloter |. Bfitforsa so1 Bz vadldist

B. 3Siat dlerR siifdoor Il. T Skrcifdcd 3w Aaa

C. va. BRRIifesr lll. carsed v whiiforre &Ml sife e
D. dc1 g IV, sif¥ea, Sis? Us g bidecht

il fou o1 frseul 3 A A IR o ©
[Question ID = 6375][Question Description = S3_qSNz_PG_PLS_Q66]

A W N -

67) Match List | with List Il

A-1,B-1l, C-1l,D- IV [Option ID = 24963]
A-1l,B-1V, C-1I,D- | [Option ID = 24964]
A-1V,B-1ll, C-1I, D - | [Option ID = 24965]
A-1,B-1,C-1ll, D - IV [Option ID = 24966]

List | List Il

IA. Bureaucratic Terror I. Frantz Fanon

B. Cultural Revolution Il. Plato

C. Apartheid Ill. Mao Zedong

D. Allegory of Caves IV. Hannah Arendt

Choose the correct answer from

et -1 Bt 3l -1l A AR Hife

the options given below:

Rt -1 il

A. RRIBREBER |. wist Wolor
B. @care Ralcygrer Il. e

C. srurfifs lll. Fmsi forgier
D. uferensl sife doa IV. @rer 3R6c

oiil fSu aru famedl 3 A A8 IR gfore :

[Question ID = 6376][Question D

A W N -

68) Match List | with List Il

escription = S3_qSNz_PG_PLS_Q67]

A-1V,B-1ll, C-1,D - Il [Option ID = 24967]
A-11,B-1,C-1ll, D - IV [Option ID = 24968]
A-1,B-1l,C-1ll, D - IV [Option ID = 24969]
A-1ll, B-1V, C-1, D - Il [Option ID = 24970]

List | List Il
Books Author
A. Fatawa-i-Jahandari |. Charles Bettelheim

B. Thoughts on Linguistic States

Il. M. N. Roy

C. India Independent

Ill. Zia Barani

IV. B. R. Ambedkar

D. The Future of Indian Policies

Choose the correct answer from

et -1 Bt 3l -1l A AR Hife

the options given below:

et -1 Rxeh -1l

A. adl - U - SBleIGRT |. arcst deciersa
B. eifcz sifor fifSaRea=t e Il. @& wor. 31
C. 33 sR3UaSe ll. R S=reh




|D.‘c’u?g§naﬁussﬁaau‘ifc‘fﬁw

IV. . 3. 3RS |

il fou s1e fyseul 3 ¥ A8 IR o ©
[Question ID = 6377][Question Description = S3_qSNz_PG_PLS_Q68]

1. A-1,B-1Il,C-Il, D - IV [Option ID = 24971]
2. A-1ll,B-1V,C-1,D-1l[Option ID = 24972]
3. A-1l,B-1,C-1ll, D -1V [Option ID = 24973]
4. A-IV,B-1l,C-1,D-Ill [Option ID = 24974]
69) Match List | with List Il
List | List Il
IAuthors Books

A. Lord Bryce

I. Comparative politics-A Developmental Approach)

B. Graham Wallace

Il. New Aspects of Politics

C. Gabriel Almond

IIl. Modern Democracies

D. Charles E. Merriam|lV. Human Nature in Politics

Choose the correct answer from the options given below:

et -1 B e -1l A g e

Rt -1 Rt -1l

A. oI$ gIsa |. DeRfea diférfeazt - ¢ Sderudices sigia
B. spsa dicia Il. 53 smedacR sifw diferfeat

C. 3idiet srcanis Ill. srsot SR

D. ancsd $. afwmEr IV. &igio1 olal? 3ol diferfeat

il fou s1o fRrpeul 3 3 A& I gforw ¢
[Question ID = 6378][Question Description = S3_qSNz_PG_PLS_Q69]

1. A-1,B-1II,C-1l, D- IV [Option ID = 24975]
2. A-1lIl,B-1V,C-1,D- Il [Option ID = 24976]
3. A-IV,B-1ll, C-1I, D - I [Option ID = 24977]
4. A-1l,B-1,C-1V,D-Ill [Option ID = 24978]
70) Match List | with List I

List | List Il

A. SALT-I 1. 1987

B. SALT-II Il. 1990

C. START-I . 1979

D. INF Treaty IV. 1972

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifsre :

oxeht - | oxelt -1l
A. Jree - | 1. 1987
B. arcce - |l 1. 1990
C. ¥eré - | 1. 1979
D. 3ig wol Uk && IV. 1972

il fou a1e fyseul 3 3 A8 IR gfom ©

[Question ID = 6379][Question Description = S3_qSNz_PG_PLS_Q70]

1. A-1V,B-1ll,C-1I, D - | [Option ID = 24979]
2. A-1ll,B-1I,C-1,D- IV [Option ID = 24980]
3. A-1I,B-1Il,C- 1V, D - | [Option ID = 24981]
4. A-1,B-1I,C-1ll, D - IV [Option ID = 24982]

71) Match List | with List Il

List | List Il
IA. Basic Exchange and Cooperation Agreement|l. 2004
B. Indo-US Civil Nuclear Deal 11. 2002
C. High Technology Cooperation Groups 1. 2020
D. Next Steps in Strategic Partnership V. 2005

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

foxeht -1

et -1l




A. BT TawRisl TUs DIHureT 3pfidic I. 2004
B. €31 - 3, war. Rifdict saRrerR S 1. 2002
C. a1 2aoicisht @ aifuoret s 1. 2020
D. aiaec v so1 FRXRID UdoRda IV. 2005

off< feu are frpedl 3 A 13l 3R gfore :

[Question ID = 6380][Question Description = S3_qSNz_PG_PLS_Q71]

A W N -

A-1,B-1ll,C-1V, D - Il [Option ID = 24983]
A-11,B-1,C-Ill, D - IV [Option ID = 24984]
A-1V,B-1l,C-lll, D - | [Option ID = 24985]
A-1ll,B-1V, C-1I, D - | [Option ID = 24986]

72) Match List | with List I

List |

List Il

Forms of Government

Essential features

IA. Cabinet Government

|. Separation of powers

B. Presidential Government

Il. Collective responsibility

C. Federal Government

lll. Concentration of powers

D. Unitary Government

IV. Division of powers

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et -1 et -lI

(FRPR D FaxU) (3tforart froreerg)

A. sifegiscin IRPR |. orfepel w1 RSl
B. 3EASICHAD IRDR Il. A3 IaciRra
C. JICHD IRPR 1. orftp=il @1 DocimuT
D. OhIcHD IRPR IV. o1fep=il I fsirstol

oif<l feu are fpedl 3 A A8 3R gfore :

[Question ID = 6381][Question Description = S3_qSNz_PG_PLS_Q72]

1. A-1ll, B -1V, C-1,D - Il [Option ID = 24987]
2. A-1I,B-1,C-1IV, D - Il [Option ID = 24988]
3. A-1,B-1I,C-Ill,D - IV [Option ID = 24989]
4. A-1IV,B-1Il,C-1l,D - | [Option ID = 24990]

73) Match List | with List I

List |

List Il

IAuthor

Books

A. Rabindra Ray

I. The Naxalites and their Ideology

B. Ashish Kumar Roy

Il. The Spring Thunder and After

C. Carole Spary

lll. Gender, Development and the State in Indiq

D. Sanjay Kumar (ed)

IV. Indian Youth and Educational Politics

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et - | e -1
(aonDR) (gzao)

A. ¥dlog 3 |. G SIaRICIISCRT Us SR snsi3=ilciisit
B. smofia @arre 3 1. T ¥jor 252 Us amuc

C. et FU3d lll. Sis?, Sacrudic Us g ¥ec 3ol sf3an
D. JisRI AR (31.) IV. $f$rel g §s sciadiza diferfeaan

offc feu aru frpedl 3 3 3l 3R gfore :

[Question ID = 6382][Question Description = S3_qSNz_PG_PLS_Q73]

A-1,B-1I,C-1ll, D - IV [Option ID = 24991]
A-1,B-1,C-1IV, D - Ill [Option ID = 24992]
. A-1I,B-1V,C-1l,D- I [Option ID = 24993]
A-1V,B-1ll, C-1,D - Il [Option ID = 24994]

A W N -

74) Match List | with List Il

List |

List Il

A. Decision Making

|. Fred Riggs

B. Ecological Approach

Il. Edward Wiedner




C. New Public Administration Ill. Herbert Simon
D. Development Administration IV. Minnowbrook Conference 1968
Choose the correct answer from the options given below:

gl -1 @ 3 -1l A Fgafera Hifsre ¢

el -1 et <11

A. Rfister aifeset I. B sfea

B. sooldiiforaper sargia Il. vsars dsorr

C. 59 uRciw vsRIRgwI I1l. a<i¢ RBratrer

D. 3dcrudic ushiforeore IV. Brooliges dicwa 1968

ofla fou s1e frseul 3 ¥ A8 IR gforw ©
[Question ID = 6383][Question Description = S3_qSNz_PG_PLS_Q74]

A-1,B -1, C-1ll, D - IV [Option ID = 24995]
A-1ll,B-1,C-1V, D - Il [Option ID = 24996]
A-11,B-1Il,C-1IV, D - I [Option ID = 24997]
A-1V,B-1ll, C-1,D - Il [Option ID = 24998]

A W N -

75) Match List | with List Il

List | List 11

A. Insurance Regulatory and Development Authority Act [I. 1988
B. Reserve Bank of India Act 1. 2003
C. Fiscal Responsibility and Budget Management Act 111. 1999
D. Prevention of Corruption (Amendment) Act IV. 1934

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l
A. 397IA YLK Us Sactudic 3ielifyl wac 1. 1988

B. ford dob sifw $f3m vae 1l. 2003
C. fsrma Redifsafaferd vs asic doisiic vac 1. 1999
D. fidoret 3ifts w2vorel (33isdHT) wac IV. 1934

il 3w o1 fmcul 3 A At I gfom :
[Question ID = 6384][Question Description = S3_qSNz_PG_PLS_Q75]

A-1ll, B-1V, C-1l, D - | [Option ID = 24999]
A-1,B-1l,C-1ll, D - IV [Option ID = 25000]
A-1V,B-1ll, C-1l, D - | [Option ID = 25001]
A-11,B -1V, C-1ll, D - | [Option ID = 25002]

AW N =

76) Arrange ideological focus of the Feminist movement under different stages in chronological order
A. Focus on right to vote for women

B. Focus on social and economic equality
C. Focus on culture and context
D. Focus on Ecofeminism

Choose the correct answer from the options given below

faftroor aRvll 3 SIlard) siicleral & RrarRemrr Adeh DRI Rrar I PropHeRIR cIaf¥ed Hife
A. aif¥ersii o1 Iaif2er 3ol iR g

B. wmnfSios aen snffes Fererar uR e

C. J¥mia aar Ascst uz gaa

D. wafazur - oidlare (st Bidifersa) Uz e

ofi o s1u fmeul & A A8 3R @I M6 HifSTT :

[Question ID = 6385][Question Description = S3_qSNz_PG_PLS_Q76]

A, B, C, D [Option ID = 25003]
D, C, B, A [Option ID = 25004]
B, C, D, A [Option ID = 25005]
C, B, A, D [Option ID = 25006]

’

)

A W N -

y» Dy

77) Arrange the work of Hannah Arendt in ascending order



A. The origin of totalitarianism
B. The Human Condition

C. On Revolution

D. On Violence

Choose the correct answer from the options given below

Bollel 3R¥csc bl FaeIsll B RIS Gt 3 caaf¥erd Hifsr :

A. g f¥fSrea sifw Aeferefiforsa

B. 5 &Il @dleret

C. sifar Rdicygre

D. sifet arrcizt

il f3u a1e fyaseul 9 A WL IR BT WAl HIRd :

[Question ID = 6386][Question Description = S3_qSNz_PG_PLS_Q77]

B, C, A, D [Option ID = 25007]
D, B, C, A [Option ID = 25008]
A, B, C, D [Option ID = 25009]
C, B, A, D [Option ID = 25010]

A w N -

’

78) Arrange the following books written by B. R. Ambedkar in an ascending order
A. Gandhi and Gandhism

B. The problem of the Rupee: Its origin and its solution

C. The Buddha and His Dhamma

D. The Rise and Fall of Hindu Woman

Choose the correct answer from the options given below

dl. 3R, 3D SR feilkaa fraftiRaa gzam! o ord RIS @t 3 =mafyeda bifse :
A. aniell s arieliva

B. g yfectu 3if © 3dl : 3¢ 3iifeforer Us g1 Alcygrot

C. 5 gg us 31 e

D. g Ir5st Us wid sifw f3og gdior

il fou s1u freseul 3 A I IR BT w6l HIfSIE ©

[Question ID = 6387][Question Description = S3_qSNz_PG_PLS_Q78]

. A, B, C, D [Option ID = 25011]
B, D, C, A [Option ID = 25012]
D, A, B, C [Option ID = 25013]
C,B

1
2
3.
4 , D, A [Option ID = 25014]

79) Arrange chronologically the following books in order of their publication:
A. Contemporary Political Analysis by James C Charlesworth

B. Modern Political Analysis by Robert A. Dahl

C. The Process of Government by A. F. Bentley

D. A System Analysis of Political life by David Easton

Choose the correct answer from the options given below

forgorferRaa gaaml ol Jord> YbIolel @ MIciapaA 3 caafderd bifsm :

A. Siw 2. arced aef, & wesadt difefeawa voenferf¥rr

B. e u. s5a1 &l disol difeifieawer wonfeiRra

C. © - U dead &l § QRIA 36 sacidic

D. 3fas geeot dI v Rivea wotrensR3n sifw difeifiema arse

il feu aru fareedl 3 A A8 IR D1 TRIet B :

[Question ID = 6388][Question Description = S3_qSNz_PG_PLS_Q79]



, D [Option ID = 25015]
, A [Option ID = 25016]
, D [Option ID = 25017]
, A [Option ID = 25018]

A W N -

80) Arrange the following international treaties in chronological order:
A. Charter of the United Nations

B. Treaty of Westphalia

C. Treaty of Versailles

D. Treaties of Utrecht

Choose the correct answer from the options given below

forraiferRaa siazrsdia RN o1 BragHeRIR craf¥ed Gifse ¢

A. JIgTd IS AT DI AT

B. avcwrcti=n &t Jfer

C. a1 & Jfer

D. gga &t ziferai

il fou s1u fRrapeul 3 2 & IR BT a6l HIfSIE ¢

[Question ID = 6389][Question Description = S3_qSNz_PG_PLS_Q80]

A, B, C, D [Option ID = 25019]
C, B, D, A [Option ID = 25020]
B, D, C, A [Option ID = 25021]
C, A, D, B [Option ID = 25022]

A WN -

81) Arrange the signing of the following agreements by India in order of their appearance:
A. Land Boundary Agreement

B. Tashkent Agreement

C. Moscow Test Ban Treaty

D. India-Russia Friendship Treaty

Choose the correct answer from the options given below

HRA GRI 531gR pu s1u forafeiRaa rasiidl ol Io1d yweo @ B I xrai¥era Hifse :
A. 9 - it warsiian

B. drewe arsiiar

C. sl e o RRfe

D. sma 331 Iy Ffer

il f3u a1 fraseul 9 2 W) IR BT wRIoT HIRdIE ©

[Question ID = 6390][Question Description = S3_qSNz_PG_PLS_Q81]

C, B, D, A [Option ID = 25023]
B, C, A, D [Option ID = 25024]
A, C, B, D [Option ID = 25025]
C, D, A, B [Option ID = 25026]

A w N =

82) Arrange the following in a chronological order
A. Communal award

B. Simon Commission
C. First Round Table Conference
D. Gandhi-Irwin Pact

Choose the correct answer from the options given below

fogstferRaa @1 T GHIGRIR wraf¥ed &Hifse :
A. ®RIsIcl ars

B. 133101 DHaftorer



C. g lieris AFAcTol

D. srielt sfdfer arat

ofi o s1u feseal & A A8 IR BT wRI6T HIfRvIT :

[Question ID = 6391][Question Description = S3_qSNz_PG_PLS_Q82]

B, C, D [Option ID = 25027]
C, D, A [Option ID = 25028]
, D, A, B [Option ID = 25029]
A, B, C [Option ID = 25030]

A W N -

)

83) Arrange the following labour unions according to the year of their formation in descending order
A. INTUC

B. Ahmedabad Textile Labour Association

C. Bhartiya Mazdoor Sangh

D. Bombay Mill Hands Association

Choose the correct answer from the options given below

forgotferfiac sreigy 2wl (AiaR AforToll) DY Ioid 3100l B adf B AAS Gt A caaiderd BT :
A. soRk®

B. seaciarc aeqofdie I (GHSEIG TaIccrse daz TAIRIUreT)

C. il a6z 3g

D. soq firer 321 waAif¥uore .

il feu aru fareedl 3 A A8 IR @1 TRIet B :

[Question ID = 6392][Question Description = S3_qSNz_PG_PLS_Q83]

1. C, A, B, D [Option ID = 25031]
2. A, B, D, C [Option ID = 25032]
3. D, A, C, B [Option ID = 25033]
4. B, D, A, C [Option ID = 25034]

)

» Y

84) Rensis Likert has identified four systems of management on the basis of nature of authority and control of organization.
Arrange in ascending order of efficiency

A. Benevolent-Authority

B. Consultative Leadership

C. Participative

D. Exploitative Authoritative

Choose the correct answer from the options given below

oAl ferapd of FvIsel @ IR dl foRIqUI @ FaeU @ 3IMIER UR Yol d Ugeril &l usare & 3 3os cerar @ RIS o A caaf¥erd HifSe :
A. Raord Framarct

B. famrefmrst digea

C. surll

D. oftyureTe st

il fou s1u frapeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 6393][Question Description = S3_qSNz_PG_PLS_Q84]

1. A, B, C, D [Option ID = 25035]
2. D, A, B, C [Option ID = 25036]
3. C, B, A, D [Option ID = 25037]
4. B, A, C, D [Option ID = 25038]

85) Arrange the following books according to the years of their publication
A. Dror, Yehezkel. Public Policy Making Re-examined

B. Dye, Thomas R. Understanding Public Policy

C. Bhattacharya, Mohit. New Horizons of Public Administration

D. Anderson, James E. Public Policy Making



Choose the correct answer from the options given below

forgaifeiRaa graeml o1 oD YoIolel & ad @ SoRIR cIaf¥ed Hifsm :

A. 3R, Aureda "ufdcares diferft Aftser Ruasnflis”

B. 3r¢, olferT 3IR. "3isef¥ar1 ufderes diferrit”

C. szrart, MiFq, "o ARIssIoA 3w ufecrd wshiforrgoret”

D. dsa, s €, "uféare diferft afeser”

il f3u a1 fraseul 3 A W) IR BT WA HIdIE :

[Question ID = 6394][Question Description = S3_qSNz_PG_PLS_Q85]

. A, B, C, D [Option ID = 25039]
B, D, C, A [Option ID = 25040]
B, A, D, C [Option ID = 25041]
D, C

1
2
3.
4 , A, B [Option ID = 25042]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: B. R. Ambedkar was critical of the existing federal structure

Reason R: The local self-governments neither have legislative power nor executive power in the real sense of the term,
according to Ambedkar

In light of the above statements, choose the correct answer from the options given below

ofid A1 werol fSu o1 3 ;. uop sifdrperct (A) & wu 3 fiRaa 3 @ g1 3ud orvl (R) & »u 3 :

sifdreperet (A) : €l 3R, 3EASDR axderret AHRI GId & sirclias

®RYI (R) : 3FASHR D IGRIR, FAGIRI I - RIS & URI drdd 3 o dl faari eiftpai 3 iz o & erierl eftbal
SWRITP Pl @ el #, ofld [3u s1u Rrapedl 3 A AR IuYh IR DI RIol HIRIT ©

[Question ID = 6395][Question Description = S3_qSNz_PG_PLS_Q86]

Both A and R are true and R is the correct explanation of A/(A) 3z (R) 31 & 3z (R), (A) & 318 = 3 [Option ID = 25043]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) @il 3 & wag (R), (A) &t 36 wmen oidt 8 [Option ID = 25044]
A is true but R is false/(A) 3= &, aifdpar (R) Rt & [Option ID = 25045]

A is false but R is true/(A) sricr 8, cifcpar (R) =13 [Option ID = 25046]

A w N =

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: John Locke was portrayed as possessive individualist

Reason R: John Locke was not in favour of merely maximising interest

In light of the above statements, choose the most appropriate answer from the options given below

ofil & Deror Ru s1e ¢ wo afdrwert (A) & wu & Rifad 3 di garr sud oru (R) & wa a
sifdrpere (A) : Sifol dice Facarcard ftpart ygidfa fpar srm 8 ?

@rur (R) : Sifel i daer 4l &1 afy & usier okl &

SWRITP Pcll D 3MIclid A, ofld v s1u fypedl 3 A AR IuYTh IR DI Tol HIRIT ©

[Question ID = 6396][Question Description = S3_qSNz_PG_PLS_Q87]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) claii 3@l 8 32 (R), (A) &I &l =r=n & [Option ID = 25047]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3d & w3oq (R), (A) &t 3 =m=n o8t & [Option ID = 25048]
3. Ais correct but R is not correct/(A) @t @ wog (R) 2@t ot & [Option ID = 25049]

4. A'is not correct but R is correct/(A) 3@t siéf @ weeg (R) 3t 2 [Option ID = 25050]

88) Given below are two statements
Statement I: Issues of peace and security are decided by 2/3 majority, including five permanent members, by the UN
Security Council

Statement II: UN Security Council represents all regions of the world in adequate manner

In light of the above statements, choose the correct answer from the options given below

il of @eret feu a1w 3 ¢



werel - | ¢ orifer siiz JRem el AR Uz AT g T D ufa FArRM Al AfRa 91 - el Al & ggaa A ok form smar 3
el - Il @ 3, vol. Jren uftee uata su 3 fea @ st QG @1 gfeifsiferea war 3

SWRIFP Poll D 3Mrelld #, ofld 3w 31u frpedl 3 A AR IuYTP IR DI TRIol HIFIT ©

[Question ID = 6397][Question Description = S3_qSNz_PG_PLS_Q88]

Both Statement | and Statement Il are true/aserwr | aiiz |l Sioit 2er & [Option ID = 25051]

Both Statement | and Statement Il are false/@ermr | 3iiz || Siaif sricr & [Option ID = 25052]
Statement | is true but Statement Il is false/@eme1 | a1 @ , fboq @eret |l sRI=r & [Option ID = 25053]
Statement | is false but Statement Il is true/wmemwr | sRiI & , fbog @eret || A= & [Option ID = 25054]

A W N -

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: India supports global nuclear disarmament, but wishes to retain the option of “credible minimum deterrence”
Reason R: Indian nuclear policy is rooted to meet, both its global and regional concerns

In light of the above statements, choose the most appropriate answer from the options given below

offa ol ool R sre 3 : v aifirperst (A) @ wu 3 feilRaa 3 al gerI 371 ®RYI (R) D wu # :

sifdrpere (A) @ siRa dffad U] for:9R<b2uT DI AFeleT BT 8, URoq IAUDI $TOI & b a8 'faraTeiRT Joidd Yferlel oI fameu off 330
@RI (R) : sireilr uzamvy ofifer 31l Afaw sz gl Riamsil ol g3 el R Biga 3

JWRITD Dl D IATellD 3, ofd fEu s1v fRiepedl 3 A AT IUYT IR DI Rl HIFT :

[Question ID = 6398][Question Description = S3_qSNz_PG_PLS_Q89]

. Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) cleil 3t & 3ik (R), (A) &t 38 == 8 [Option ID = 25055]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) gleil 2@t & g (R), (A) 6t 3 =me=n ot & [Option ID = 25056]
. Alis correct but R is not correct/(A) &t & wog (R) @ ot & [Option ID = 25057]

. Ais not correct but R is correct/(A) 3 ai&t 3 uwssg (R) 3t & [Option ID = 25058]

A W N -

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: India is illustrative of 'holding together' federation due to circumstances in which centre agreed to ‘devolve’
power for holding the federal units together

Reason R: This asymmetry of power division, along with era of coalitions and weaker governments at centre, let to assertion
for demand of autonomy by states

In light of the above statements, choose the correct answer from the options given below

ofid A1 werol fSu a1 3 : U sifdrberct (A) & wu 3 filaa 3 @ ga1 sud orur (R) & a3 :

sifdrperet (A) : fror ufdfaferil 3 kR sors=il Bl vpgle ol & feru @ 9Iftp & "sedAiaRuT & fo1U TRIR 3311, IoId> PRI HRA 'TDHIC
®RYI (R) : sroderet o1 AR B A BHSIR IRDPRI D Blol D AT IRP fisier Bl 331 3RIHBIT B BRI IRl ERI FarKddr & #ier &l st
el

SWRAD Pl D 3Mrclld 3, ofld fGu sre frpedl 3 A AR WD IR DI RIol DIfSIT :

[Question ID = 6399][Question Description = S3_qSNz_PG_PLS_Q90]

Both A and R are true and R is the correct explanation of A/(A) iz (R) g¥ail 311 & 3z (R), (A) &6t 3& e 8 [Option ID = 25059]

Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3= & woq (R), (A) &t 3 wareen oidt & [Option ID = 25060]
A is true but R is false/(A) 3 3, vt (R) 3Rt & [Option ID = 25061]

A is false but R is true/(A) sric 8, cifcpar (R) A= 8 [Option ID = 25062]

A W N -

Topic:- 2 Political Science_B

1) Read the following passage and answer the questions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable.
Marx did not say much on the role and position of women. He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about. Marx did not focus his attention on the position and role of
women.

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.
Kugelmann in 1868 that social progress could be assessed exactly by the social position of women. In 1845, Marx warned



against treating the family regardless of its specific historic setting. In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money.

forgoiferRaa sterior ol uféu aur offr fGu st gusll @ Ia= difsru :

31c¥I 3101 &Il Y e HAra=d of aAfdemaii & forerr 3 97t ioter A YRy fopen  Siotar Afenail ot waR Arerd & IorT Aleton T &6 aAfdemnsii 3
ASIIDA BH B Aedr BXdl 3 3iiz gau aen Afdar 3 yrapfere siar sruf¥adofizr 3 ara=i of afdcmsii &t yfdror aen Refer & ar 3 sifere odl
@&l Joslol As UdDI Aol ferRIT o1 s FArsIarg oIt @1 Jftb Yglol wen Isalol Uil ol ‘sifel ssf3Riiciish’ den "dfteer’ 3 uf¥ar 3 opr &
grfee qen Faqa: gyafda fanisior &t aa ol 3 soél yramidae el of Apnfre Hder o yord fsar den g« Auf - Jde ad doll s gayu
oI 319ofl Ucofl den sl @I 1Yol SR Aol

g3y Dl oI HUR UPR Bl AT {7 a6 SIAI A8 IoR] DI DA ADdl AT, Yt A1t of a6 Fuce ofdl fop b a8 A DA g3 A=t of
Fifgernail b Rrerfer aen syfdrnt u= &6t DA ordl v

BR31c o 3rueil fer 'siififSead’ 3 'Rigea® I’ @ 3ga @I sifdpard eftcwlvr g fpar 3 aer ordl &l sufdfaarn o1 Jder forsfl Jiufer @ 3cerror
3 SIIST & 3Ueil el ‘Bicll Bidrcll’ 31 Fira=t aen St o1 smaciidot o1 b oIkl b bl razer oI IURIIST VA Aleld D WU I b S Idpar 8
RRID GRI ®I A Jftb DI AU ADAI 8 AITR of 3 RIR I 31. wel. qgaIcidre] @I R wp uey 3 31l Yol: oreb fdpen 3 fop Arenisia yaiie
@I A3 - A8 Peidol Aferaii B Rafer grr fpen s wrpar  ad 1845 3 ara=dt of uf¥ar uz sad fafdrse VeI ardraRur U eamor ke
et foraR @301 & fasg Aarn & Fa1 Reolz (1805 - 1856) bl srrcllaett @l gu ATG=d of Rouvil & off fop fon ord ufvar & an 3 aaf wwen
iAD BN Bl wu A gofsn bl of gfair ufyarz &l fafdrsedr ygroer &l fOre1dl Ader Harsuet aer U uz smenfyd o

According to Karl Marx, women emancipation can be judged from which of the following?

DIt AR D ARAR, IRl e @I forerur forraifeiRaa 3 A oard R = s Apar 3 ?

[Question ID = 6400][Question Description = S3_qSNz_PG_PLS_Q91]
1. Division of Labour/gpg @1 fasrsier [Option ID = 25063]

2. Means of Production/3curger @ merot [Option ID = 25064]

3. Class Character/qsf faferear [Option ID = 25065]

4. General Emancipation /e gjfep [Option ID = 25066]

2) Read the following passage and answer the questions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable.
Marx did not say much on the role and position of women. He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about. Marx did not focus his attention on the position and role of
women.

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.
Kugelmann in 1868 that social progress could be assessed exactly by the social position of women. In 1845, Marx warned
against treating the family regardless of its specific historic setting. In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money.

forsotferR3ad sterior @ ufew aen ofld 3w s1g gesil & Iaz AR :

31671 3ol 8l bl e 1=t of Afdesil & forerr 3 9%t EioTer A grRst e EisTer aAfdemaii Y DR AGId I IoTd! JAleloll o1 & Afdermail 3
UG DA AIfBD AT BXdl 3 3R Yay den aAfden I grapfere siaz srufadoiler 3 aAra=t of Afdersil I Y3t aen Refer & ar 3 sifere ol
@3l Ioslol A UTDI Aol ferIr o fob ST oIl @1 i Yglol 6N Ioalol 3Ueil ol ‘Siafor ssfiiciisl’ den ‘dftrea’ 3 uf¥ar i o &
gIfcre e Fad: ggaidd fisirsior of ara ol 8 $oél gra e A« of ATHIMRID Adel DI Yord b a1 yerE1 Aufd - Ade ad ol 5 Yay
oI 31Uofl ucofl den sl Wl 31Ul SR Aol

gay @l 3oId HUR AfUPR Bl AT 3R a6 SIAI a13 IoRI DRI DA ADdl I, YeIftl A1t of As Fuce o1l oo b us A B g3 A=t of
Fifensit B Rrerfer aem YRt U= 101 DA o1t e

U312t of sruehl gfer 'siififoret’ 3 'geae Iar & Iga @1 silferparct effedlv yaqa fosen 3 den ol &bt snfdfaarn o Hder forsht Fuftr @ Icarror
3 SISt & 31Ul Faol 'Bictl Bfdrcll’ 3 sira=t aen 8fSiea @1 sraciidol a1 b oidt Piep b sraze o1 UM VA Aleld D WU 3 e s Awar
BRI GRI ®If AT JRP @l AT ADdl 3 AT of 33 [RrarR oI 3i. vel. @plciel @ ffrd v ud 3 il gel: rep fop=nn 3 fob AR ypifer
BT A3 - A3l Peicol Aferaii Bt Rrerfer grr fopan st wrwar & ad 1845 3 st of uf¥ar uz sad fafdrse ¥ersIRIe ardERur U e ke
o ferar @201 @ fapg darn & a1 Reolz (1805 - 1856) i sneliaeit @ gu Ara=d of fevuvit &i off fp fdor ord uf¥ar @ ar 3 Taf don
D gon VeI 3wu A gefai cllell of gofsn ufvar &l fafdrsedr ygret & fSr1dl Fder Sarsuel dar U Uz smenfya &1



Prior to Marx, which political thinker had a gender bias in his/her writings?

a1 & gd fopa smelifere Riae & saoisil # st & gfer galse Rerar 37

[Question ID = 6401][Question Description = S3_qSNz_PG_PLS_Q92]
Hegel/&lsret [Option ID = 25067]

J. S. Mill/a. wat. farer [Option ID = 25068]

Plato/wIcr [Option ID = 25069]

Mary Wollstonecraft/a$t aicaicorayue [Option ID = 25070]

A WN -

3) Read the following passage and answer the questions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable.
Marx did not say much on the role and position of women. He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about. Marx did not focus his attention on the position and role of
women.

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.
Kugelmann in 1868 that social progress could be assessed exactly by the social position of women. In 1845, Marx warned
against treating the family regardless of its specific historic setting. In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money.

forsotferR3acd sterior @ ufee aen ofld 3w o1 gesil & Iaz AT :

31671 3ol Sl bl e Ara=d of Afdesil @ forerr 3 9ft EioTer A yrRst e EisTer AfSensii Y DR AGId I oIl JAleloll oI & Afderail 3
UGN DA dIfBD APdr BXdl 3 3R Yy den aAfden i grapfere siaz srufadoiler 3 ara=t of Afdersil I Y3t den Refer & ar 3 sifere ol
@3l Iodlol A UADI Aol ferI o fob ArsIars oIl @1 PR Yglol w6 Ioalol 3Ueil ol ‘Siafor ssfiicish’ den ‘dftear’ 3 uf¥ar i o &
gIafcre e Fad: ggafdd fipirsior of ara ol 8 $oél gra e A« of ANMRID Ade BT Yord [bar aar yerE1 Aufd - Ade ad ol 5 Yay
oI 31Uofl ucofl den sl Wl UGl SR HToll

gay @l 3oId HUR AfUPR Bl AT 3R a6 SIAI a13 IoRI DI DA ADdl I, YeIft A1t of a6 Fuce ol oo 6 s Aaa BA g A=t of
Fifdemsit B Rrerfer aem yPit U= 101 DA o1t e

U312t of sruehl gfer 'siififoret’ 3 'geae Iar & Iga @1 siiferparct effedlvr yaqa fsen 3 daen ol &bt snfdfaarn o Hder forsht Fuftr @ Icerror
3 SISt & 3rueil Faol ‘Bietl Bfdrch’ 3 sira=t aen ¥fSrea @1 sraciidol a1 b oidt Piep Bl srazer o1 UM VA Aleld D WU 3 e s Awar
BRI® GRI ®IF AT JRP ®l AT ADdl 3 AT of 33 R oI 3i. vel. @plcrsl @l ferd v ue 3 9l gol: orep fop=nn 3 fob AR ypifer
DI A3 - A3l Peidol Afderaii B Rrefer grr fopan s wrwar & ad 1845 3 st of uf¥ar uz sad fafdrse VIR ardERur U e ke
o1 ferar @2l @ fapg darn & a1 Reoiz (1805 - 1856) i sneliaeit @2 gu Ara=i of fevuvit &i off fp fdor ord uf¥ar @ ar 3 Tt don
D gon VeI 3wu A gefsi cliell of gofsm ufvar bl fafdrsedr ygret & fSr1dl Fder Sarsuel dar U Uz smenfya &1

Write the full name of Engels’ book "Origins"?
Sforcar Bl gras "siiffSe” o1 gt omr o= 3 ?

[Question ID = 6402][Question Description = S3_qSNz_PG_PLS_Q93]

1. The Origins of Family and the State/3 siif¥fSea1 sifw Bfdrctt U5 g 3¢ [Option ID = 25071]

2. The Origins of Family and Private Property/s siif3fSiea1 sife ®fércft 85 yrsde gt [Option ID = 25072]

3. The Origins of the Family, Private Property and the State/g sii¥fSe21 sifw g Bférefl, ysde gruet 8s & e [Option ID = 25073]
4. The Origins of Family and State Property/g 3iif3fSio21 sif ®férefl 6s 3¢ giuct [Option ID = 25074]

4) Read the following passage and answer the questions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable.
Marx did not say much on the role and position of women. He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about. Marx did not focus his attention on the position and role of
women.

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.



Kugelmann in 1868 that social progress could be assessed exactly by the social position of women. In 1845, Marx warned
against treating the family regardless of its specific historic setting. In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money.

forgotferR3aa sterior @ ufew aen ofld fu o1 gesil & Iaz AT :

316%I 3ol &gl bl e Ara=d of Afdesil @ forerr 3 9ft EioTer A yres1 e EisTer aAfdemail B DR AGId I Iord! JAleloll o1 & Afderail 3
UG DA dIfBD APdr BXdl 3 3R gy den aAfden i grafere siaz sruf¥adeiler 3 aAra=t of Afdersii I Y3t den R-efer & ar 3 sifere ol
@8l Joslol As UdDI TGl R o1 &b FASAIG oIl @I JRb YgIol BN Ieslol UGl el ‘Sidiol MEiSiicis’ aen 'ditieet’ 3 ufsar 3 o &
gIfere e Fad: gdaiddd fsirsiol o ara ol 8 s6él graiad el of ANMRID Adel BT Yord [bar aor yeEr Aufd - Adel ad ol 5/ gay
oI 31Uofl ucofl den sl Wl UGl SR Aol

gay @l 3oId HUR AUPR Bl AT 3R a6 SIAI A13 IoRI DI DA ADdI I, YeIft A1t of A6 Fuce ol oo b s A BA g3 A=A of
Jifensit b1 Rrerfer aem yPrT U= 101 DA o1} e

ORI o 3raeil ofer st 3 'Rigeare aar’ @ Iga @1 siifdrpard] eftcmlvr yrge feen 3 aen ordl &t snfdfaar o1 e fosfl Jiufer @ 3cerrot
3 SISt & 31Ul Faol ‘Bletl Bfrcll’ 3 sira=t aen UfSre @1 sraciidol a1 b oIt Pep B sraz-er o1 IuRIBI ¥ Aleld D WU 3 e S Awar 3
BrRId> GRI ®IF AT JRRP @l AU ADdl 3 AT of 33 AR oI 3i. vel. @plcrel @ ferd wd ue 3 9l gol: orep [ 3 foo A yeifer
@I A3 - A3 Peicol Afderaii B Rrafer grr fopan st wrwar & ad 1845 3 s of uf¥ar uz sad fafdrse VIR ardERur U e ke
o1 ferare @201 @ fapg darn & a1 Reolz (1805 - 1856) i sneliaeit @2 gu Ara=d of fevuvit &i off b fdor ord uf¥ar @ ar 3 @i don
D goN VeI 3wu A gefsi cliell of gofsn uf¥ar bl fafdrsedr ygret & fSr1dl Fder Sarsue dar U Uz smenfya &1

Social position of women vis-a-vis family can be judged by which nature of the family?
af¥ar 3 afdcsii d Arnfere Rerfer o1 forerzor uf¥ar & e gapfer grRI fpan s mar 3 ?

[Question ID = 6403][Question Description = S3_qSNz_PG_PLS_Q94]
Educational background/sifdra gwoagfér [Option ID = 25075]

Historical setting/dfeiRie ardraur [Option ID = 25076]

Number of family members/ufsar @ re=il &I en [Option ID = 25077]

Income of the family/uf¥arz &t smr [Option ID = 25078]

A W N -

5) Read the following passage and answer the questions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable.
Marx did not say much on the role and position of women. He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about. Marx did not focus his attention on the position and role of
women.

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.
Kugelmann in 1868 that social progress could be assessed exactly by the social position of women. In 1845, Marx warned
against treating the family regardless of its specific historic setting. In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money.

forgaifeiRaa srerior oI ufgw aen ofid fSu s1e yestl & 3ar v :

31671 3ol Sl bl e Ara=d of Afdesil & forerr 3 9ft EioTer A yrst o EisTer aAfdenaii DI DR ATGId & IoId! Ileloll oI {6 FAfEersil 3
ST BH AIfBD Ae=aer skl 3 3l gy den afden 3 Qs siar sruf¥adofizr 3 ara=t o afdcnsit 6t yforor aen Rerfer & anR 3 siffrw ordt
@3l Ioslol A UaPI Aol eI o1 fob AASIAIS oIl DI P[P Yglol DN Iodlol el el Si3fel snsiiicsll’ den ‘diteer’ 3 ufvar 3 of &
gIafere e Fad: gafdd fipisiol &f ara ol 8 $oél Yraicd el of APRID Adel DI Yord [br aer et Aufed - Ade ad Joll Sid Yy
of 31uoil Ucofl der a<dl DI 3Uoll GRT HToll

g3y Pl oI SUR SUPR BT AT 3R 6 SIAT A IoR1 DI DA ADAT AT, YU A= of A8 Fucc oidl o fob as Aa DA g3m Ara=d of
Fifgersii b1 Rrerfer aen syfdrnt Uz earer B ordl e

UfSTe of 3ol fer 'siifefore=t’ 3 'Tigead Jar @ 3Iga oI sifcrpardt efSedIvr yrdaa o 3 aar okl &l snfdfaar o i« forsil Jufa @ Icarst
A SISI 3 sruofl el 'Biclt Bfircll’ 3 Fra=! aen UfSiea @1 sadida a1 b ol Jfep & sraven oI IuAIPT ¥ Al D WU 3 [ S Irpar 3
BRI® SRI ®IF AR JRP @I AT ADPdl 3 AR of 33 RrarR oI 3i. vel. @plcrid I frd ve ue 3 ol gol: wrep fop=n 3 b ANl ypifer
Bl A - 3 PeAipal Afensil B Rafer gr1 fen st Jrpar 3 ad 1845 3 wrat of uf¥ar W sud fafdrse ¥erEIRIe ardazer us e fow
o Rk @eel & Asg darm & it Reolz (1805 - 1856) & siciiae @2 gu dAra=d of fevuvft & oft &5 fon ord uftar & ar 3 aaf wen
D BN VCBIRID 34 A g3 clidll of gof3i ufar bl fafdrsedr ygrol oI RR191 Ader Harsuel dar U1 uR menfed ar



What has been the general understanding about women's emancipation under Marxian philosophy?
HIiardt cofer 3 o8t PRP D Ader I AT AT =T 3 ?

[Question ID = 6404][Question Description = S3_qSNz_PG_PLS_Q95]

Marx understood the women's position very correctly/#ra=i of #ifgetsii bt Ferfer age &l st off [Option ID = 25079]

Marx did not analyse women's condition beyond socialism/amra=t ot sifécaii bt Reifer o1 faecsur Iersiars 3 a2 ot fisen & [Option ID = 25080]
Due to class division, women got inferior status/asf fdmsior © @Rur Afdcisl @l fowoiR gaif e [Option ID = 25081]

Men and women had equal status/gzul der aifetsit ot e Goif farer em [Option ID = 25082]

A WN -

Topic:- 2 Political Science_C

1) Read the following passage and answer the questions given below

Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates. Developments within diaspora communities, particularly in the
United States served to facilitate this process. Chief among them was the creation of the 'Global Organization of People of
Indian Origin’' (GOPIO) in 1989, and the establishment of the 'India Caucus' within the US Congress in 1993. While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious political actors in their adopted homeland. GOPIO
members, for instance, kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin' card in their meetings with Indian government representatives in the mid-1990s.
Within the United States, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998. The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the '‘Resurgent India’ bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland. It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium.

forsaiferRaa srerior ol earoyde ufgu 3iiR i fSu sre yestl & 3ar difste @

1990 o Gord @ SRIeT HIRARI IS BT 3ol YARTl SlelRIgs o AT Ade BT Yool - PRI forerr 3 uscl Arel form R o fép st BAHIAI 3 B
gDl 8 - U dR Yol: - oifecl - Jdell g1 3 3116l dem2 ARM Ydril USRIl 3, Audm: Igep AU 3EIRDI #, SloldIcl Tceliapd 3 37 YR dI
IJPW B2 3 3ot acotnsil 3 gara A 1989 3 "sellaat sifeletssiornt sifw diue sifw $f3u6 sififser’ (GOPIO) w1 seirn siret 3iiz 1993 3 s@if¥dhl
PIRJA D 362 '$3A1 BiwA’ I reanuen SEfe usd 1o of [AifSieol AASRI D 3l DI v g A ditol DI YART fep1, g oIl of 3Dl
JIael SIrs o5 eI yaril 21s o1 @ 2 T U 9ot TAT 31 ADAr 3 Sil 31Ul 518 UG 318 391 3 Il IsHifre siftipat 31 Iersevr &
fere GOPIO @ 163l of 1990 @ gord @ e 3 HRA IIDR D AT §3 3MUoll Joml 3 'w=ial sif B¥e siifefSrer’ (PI0) o @1 foar geanfaa
D2 Yaril g D A9 FUTel DI AFAPIA AT Sol D Yol DI SHfd WM IRTD A AATEDT D 3162 HRARI IcT D IASTolicrd WU A Al
cifdidl HRARI IFRDR d a¥dd: Yarbl ol 318, fa9rgdm: 1998 o onftrdbla udlgvll & g &I ufefFerfa d g IsA PG GRI gl &
qIG cP1T I8 i yferdell I wa 2ol 3 sol APl D A3kl B, 3z AT 3 yferdell Bl A ADo! D fore snfirbRr udlgwil & g3a ag MRa
MDR SR S fepg a1e 'Tearsic $i¥ar qisi @ yfer fewang s1e Sord> Scars @1, s3A®T Ascayyl alidd Al sRN o garil Jgs Facer @ fere Jaa
gftrag 3 as 0l gftragar off BRI sRARI IROR @ ERIR ov AeIed! 3 Ui U A Al Yglol e Sirell 3magas ar

Why debate on Indian diaspora got prominence for India's foreign policy makers?

HRA D fcor oiifer forafansii @ fere sirdRl yaril 1es ur 3 & w61 @I =il g el ?

[Question ID = 6405][Question Description = S3_qSNz_PG_PLS_Q96]

1. Due to changed political milieu in the USA/?], va1. ©. &t aacft &8 Iswoifera u¥f¥erfer @ wrur [Option ID = 25083]
2. India's economic thrust towards West Asia/uf2sft efdrn @ yfer sma o1 snféfas Fsmet [Option 1D = 25084]

3. Resurgence among the Indian Community/sidkr Jgcrn 3 yorseeret [Option ID = 25085]

4. Compulsions of the Globalization process in India/ e 3 dediesur yfegen 6t arsigf=ii [Option ID = 25086]

2) Read the following passage and answer the questions given below

Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates. Developments within diaspora communities, particularly in the
United States served to facilitate this process. Chief among them was the creation of the 'Global Organization of People of
Indian Origin' (GOPIO) in 1989, and the establishment of the 'India Caucus' within the US Congress in 1993. While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious political actors in their adopted homeland. GOPIO
members, for instance, kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin’ card in their meetings with Indian government representatives in the mid-1990s.
Within the United States, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998. The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the 'Resurgent India’' bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland. It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium.



forgotferRaa srerior @l earergde ufgw 3iiz o 3w s1e yesil & Iar difSre ¢

1990 o gords @ SIRIeT HIRARI IS BT 3ol YAR{l SlelRkIge o AT Ade DI Yool - PRI forerr 3 uscl Arel RN srI o b $3rdT BAHIAI el B
gDdI 3 - U dR Yol: - ofifer - Jdell gaa 3 el dow? RN yaril AR 3, fAdum: A I AT¥® H, Solarc aceiras 3 51 yfpam ol
o1 a2 A1 3ot acoIrsii 3 gz A 1989 3 "sellget sifelelssiornt sifw diuet sifw $f3%e1 siif¥fser’ (GOPIO) @ seirn Siretr 3iiz 1993 3 s@if¥dbl
DIRJA D 362 '3 DiwA’ &l renuenr Safd uscl s o fAf¥icol APSRII D 3l DI v gy A ditiol @I YART fep1, g AHdIool of $3DI
JHsIgel SIars o MRl garil g @I o A DA T gof VAT 8l AT 3 Sil Ul 518 AUGIIT 3T ST 3 AUl Asoliicd 3if¥mdl 81 IS D
fere GOPIO @ 163t of 1990 @ Gord @ HEA 3 R IRDR D ATA §3 UGl Jodi A "URid 3w 3f3=a siiRfSer (P10) & @1 Rar grarfaa
@2 ydrRil g @ [I9I9 FeTel DI HFABIA HAIIAI Sol D Yool DI Siifdd I YT ASA HIIDI D 3163 HRARI Pl D IsTeilfecra wu A Afga
cifdical sl IRBR B arga: Yyadl 9ol 91T, [a9adm: 1998 & onfirbla udiemil & arg & uffRefer d g Isa 3EIRDT gRI uiemil &
arG oM J1e ¥ yferaell B wa dat A ot WSt B Adeler B, AR AT & yferde Bt Az AP D fore snfdblr sl & g @G HRA
MDR RIS fepy a1e Teasic $iEar qisi @ gfer fewang sie Sord> scars @1, sA®T Asvayyl #lidd Al sRI oo garil Jgs Facer @ fere Jaa
gitag 3 as 0=l gferagar off Rl HRARI IRDR @ ERR v AsYIed! 3 Mufea U A AU Yglol b1 SIIell 3Ma9As a1

What has been the task of ‘Global Organization of People of Indian Origin’' (GOPI0)?
' sciiae sifsfetrssigre st tiuet 3iiw $f3=er siif¥fSrer’ (GOPIO) o1 wRf = 281 3 ?

[Question ID = 6406][Question Description = S3_qSNz_PG_PLS_Q97]

1. Articulate the demands of NRIs/garft smdlil &l sifsii @t saar ygret @2en [Option ID = 25087]

2. Representing articulated interests of various people of India origin/ it sjc1 @ fafdroor clioll @ Fratapa &l @1 yferforferra aon [Option ID = 25088]
3. Increase in Indian cultural activities/smdRr Jizmfcie e 3 gfig [Option ID = 25089]

4. Linkage between Bollywood and Holywood/dfeflgs siiz dicfigs @ e 2ider [Option ID = 25090]

3) Read the following passage and answer the questions given below

Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates. Developments within diaspora communities, particularly in the
United States served to facilitate this process. Chief among them was the creation of the 'Global Organization of People of
Indian Origin' (GOPIO) in 1989, and the establishment of the 'India Caucus' within the US Congress in 1993. While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious political actors in their adopted homeland. GOPIO
members, for instance, kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin’ card in their meetings with Indian government representatives in the mid-1990s.
Within the United States, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998. The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the '‘Resurgent India’ bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland. It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium.

forraiferRaa srerior ol earogde ufgu 3iiR ikl fGu s yestl & 3ar difst @

1990 o Gords @ SIRIeT HIRARI IS BT 3ol YARTl SlelRkIges o AT Ade BT Yool - PRI forerr 3 uscl Arel RN s o fép st BAHIAI 3 B
gPl & - Up dR Yol: - ofifel - JAdeht a1 3 30! ded? R yaril McRIl d, fadrusm: A I @af¥et 3, Slotard acorad i 531 yfdpan ot
IJo D2 A1 3ot acotnsil 3 ggrz A 1989 3 "sellaet sifeletssiornt sifw diuet sifw $f36 sif¥fser’ (GOPIO) w1 seirn siret iz 1993 3 s@if¥dl
DIRJA D 362 '$¥AT wiwA’ &l renuenr SEf uscl 1o o [Af¥icol APSRII D B3l DI v g A ditol DI YART fop1, g oIl of 3Dl
Tl SIars {5 el yaril 219g o1 @ 3 oA v 9ot TAT 31 ADAr 3 Sil 31Ul 51T UG 318 S91 3 IR0l ISl siftipat 31 Iersevr &
fere GOPIO @ 163l of 1990 @ gord @ e 3 HRA IRDR D AT §3 MUl Jowl A 'w=ia sif R¥=e siifefSrer’ (PI0) o @1 forar gearfaa
D2 Yaril g & [ FUTel DI AFAPIA AT Sol D Yl DI SHfd M IRTD A AATEDT D 3163 HRARI IcT D ASTolicrd WU A Al
cifdidl HRARI IFRDR @ a¥dd: Yarbl dol 318, a9 1998 o onftrdbra udlgvll & g &I ufeferfa d AYgep U IEHRDI GRI uligvl &
qIG cP1T J1e 1fefe yferdell I @at 2ol 3 sol Al D A3kl B, 3iiz AT 3 yferdell Bl A ADo! D fore snfirbRr udlgwil & g3a ag MRa
MDR RIS fopu a1e 'Tearsic si3ar qisi @ yfer fRwang s1e Sord> scars @1, s Asvayul elidd Al SR oo garil Jgs Facer @ fere Jaa
gftag 3 as 0=l gftragar off Rl HRARI IRDR @ ERAR olv AsYIed! 3 Mudfed U A AUl Yglol b1 SIIell 3Ma9As a1

What is the main task of ‘'India Caucus'?

‘331 Dip’ b1 P31 PRI @R 3 ?

[Question ID = 6407][Question Description = S3_qSNz_PG_PLS_Q98]

1. To influence US policy making toward India/? & @ sfifer fomrivr ot s & ust 3 yenfaa wen [Option ID = 25091]
2. To form union of PlOs/ sk act @ safepedi (P1Os) @i i dotrenr [Option ID = 25092]

3. To act as a linkage between PIOs and Government/PIOs 3iiz JRwr @ dia @wsl a1 et awen [Option ID = 25093]
4. To provide feedback to the Indian Government/sizdlr 3@R @l yferfdpn (Grsdas) Joir [Option ID = 25094]

4) Read the following passage and answer the questions given below



Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates. Developments within diaspora communities, particularly in the
United States served to facilitate this process. Chief among them was the creation of the 'Global Organization of People of
Indian Origin' (GOPIO) in 1989, and the establishment of the ‘India Caucus' within the US Congress in 1993. While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious political actors in their adopted homeland. GOPIO
members, for instance, kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin' card in their meetings with Indian government representatives in the mid-1990s.
Within the United States, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998. The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the '‘Resurgent India’ bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland. It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium.

fogotferRaa srerior @l earergde ufgu siiz ofi) 3w s1e yesil & Iar difSte ©

1990 @ gord @ SIieT HRART A BT 3ol Yaril SloRIE B AT el BT Yool - RBrRId fwRr 3 usdl Al foRI SR o {5 $3®T BAHIAI FeT B
YDl 3 - UD dR YoI: - ofifel - Jdell gaa d 36l dow? RN yaril AR 3, fAdum: I>ep I JATIDI A, Solarcl aceiiaA A 57 yfpam ol
IJoT 2 A1 3ot acolnsii 3 gz A 1989 3 "sellaet sifeleissiornet sifw diuet sifw $f3e siif¥fser’ (GOPIO) @ seirn Sifetr iz 1993 3 s@if¥dbl
DIRJA D 362 '3 wiwA’ bl reanuen SEfd uscl v o fAf¥col APSRII D 3l DI v ¢y A ditiol @I YART fep1, g3 HdIool of $3DI
JHIGol SIrs o MR garil g @I o A DA TP o1 VAT 8l Al 3 Sil Ul 518 UGIIT 3T ST 3 AU Asoliicd 3if¥mdl 81 IS/ D
fere GOPIO @ 163l of 1990 @ GorD @ FHEA 3 R IRDR D ATA T3 UGl dodl A "Wl 31w 3f3=a siiRfSer (P10) & @1 Rar grarfaa
@2 ydRil g @ fA9IY FeT6l DI HFABIA HAIIAI Sol D Yol DI Siifdd I YD ASA HIIDI D 3163 HRARI Pl D AsToilicid WU A Afga
cifdical sl IRBR B arga: Yadl gl 91T, [adadm: 1998 & onfirbRa udlemil & arg &t uldfRefer d AFg® Isa 3EI®T GRI udiemil &
q1G oM J1e ¥ yferaell B B Dot A o1 WASH D Adeker B, AR ATA & yferael Bt Az ADA D fore snfiblr udlgwil & g @G HRA
MDR FRI SR fepy a1e Teasic $fEan qisi @ gfer fewang s1e Sord> scrs @1, $3ADT Asvayui #lidd Al sRI b garil Jgs Facer @ fere Jaa
gftreg 3 as WAl gitagar off SRI Rl IRPR D IGRIR 518 AsYred! A FuaIi¥cs 31U A ATl Yglol BT SITell 3Ta9Au® AT

Which organization gave the idea of issuing ‘P10 Card' by Government of India?

A IRDR GRI 'Pl0 o138 Sirdt fpu Siror o1 farr s Fs166t of fS=m?

[Question ID = 6408][Question Description = S3_qSNz_PG_PLS_Q99]
GOPIO/GOPIO [Option ID = 25095]

India Caucus/sfS=n ofwa [Option ID = 25096]

Indo-US Association/smd - et 3@ [Option ID = 25097]

NRIs Association/wsr.3mR.318. 2 [Option ID = 25098]

A w N =

5) Read the following passage and answer the questions given below

Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates. Developments within diaspora communities, particularly in the
United States served to facilitate this process. Chief among them was the creation of the 'Global Organization of People of
Indian Origin' (GOPIO) in 1989, and the establishment of the 'India Caucus' within the US Congress in 1993. While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious political actors in their adopted homeland. GOPIO
members, for instance, kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin’ card in their meetings with Indian government representatives in the mid-1990s.
Within the United States, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998. The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the '‘Resurgent India’ bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland. It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium.

forraiferRaa srerior ol earogde ufeu 3iiR ikl fGu sre yestl & 3ar difste @

1990 o Gord @ SIRIeT HIRARI IS BT 3ol YARTl SlelRIges & AT Ade BT Yool - PRI forerr 3 usct Arel forn R o fés st BAHIAI 5 X
gPl & - Up dR Yol: - ofifer - JAdeht a1 3 30! ded2 Rm yaril MIcrIl d, fadusm: s I @af¥et 3, Slotard acorrad i 531 yfdpan ot
oI D2 A1 3ot acotnsil 3 ggrz A 1989 3 "sellaet sifeletssiornt sifw diue sifw $f3%e sififser’ (GOPIO) @ seirn siret 3iiz 1993 3 s@if¥dl
DIRJA D 362 '$3A1 BipA’ I renuen SEf usdl 1o o fAf¥icol APSRII D B3l DI v gy A ditol DI YART fep1, g oIl of $3Dl

JIael SITs o5 eI yaril 219 o1 o 3 B v 9ot TAT 31 ADAr 3 Sil 31Ul 518 UG 318 391 3 <ol ISl siftipat 31 Iersevr &
féere GOPIO @ 163l of 1990 @ gord @ e 3 HRA IDR D AT §3 MUl Jowl 3 'w=ial sife R¥et siifefSrer’ (PI0) o @1 forar geanfaa
@2 YdRil g @ A9 FeIT6l I HFABIA AT Sol D Yol DI Slifdd I YT ASA HIIDT D 3i63 HRARI Pl D ASToiliciad WU A Al



cifdfipat sl IRPR D ardga: gawel 96 o8, fadge: 1998 & anfirbln udlemil & g &t uffRefer d g™ Isa 3EIR®T gRT udltemil &

a1 oeme se e gferdell ol @ ol 3 3ol APl D W3l b, 3R AT & yferdell ol s AAba D fere aufdcbR usisll & gia a6 sRa

INPR SRI I fpu s1u 'Teersic - qist @& yfer fam se 3o 3w ol, 3:1w! Ascayyl eliae Al srI 6 garfl e Face1 & e Jaa
yftrag 3 as 3t gferagar off Rl $IRdRI IR®R & eRIR olv Aspedt 3 liumiye U A AreAdr Yglol s Sirell smagads r

Why PIOs got significant attention during the end of 1990s?

1990 @ gorp @ 3ia 3 PIO u? srsrayyl &6t =il &= sk ?

[Question ID = 6409][Question Description = S3_qSNz_PG_PLS_Q100]

1. Emerging Indo-US economic cooperation/sid 3iiz Juat @ dia aear s31 suffe seist [Option ID = 25099]
2. Indo-US Nuclear civil deal/ s - et smfdibr sRiew et [Option ID = 25100]

3. Pokhran-Il and American sanctions/dRazur - || siiz 3@t yferse [Option ID = 25101]

4. India-America defence deal/sma - s@if¥ar 2gm et [Option ID = 25102]






